10. PERCENTAGE
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IMPORTANT FACTS AND FORMULAE

Concept of Percentage : By a certain percent, we mean that many bundredths,
Thus, x pereent meanz ¥ hundredthe, written as ¥%.

To express x® asg a fraction ; We have, x% = %
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if the price of a commodity increases by B%, then the ru'lun'hnn in consumplion s
as mot to increase the expenditure is

R inale

{100+ R} |
If the price of a commodity decreases by R%, then the increase in consumption so
as not Lo decrease the expenditure is

L = K'IIII'F-E
100 = 1) |

Reaults on Populatiom : Let the population of a town be PP now and suppose it
inereases at the rate of A% per annem then -

] 5
1. Population after n years = Pl 1+ ]::'“ :
\ 4
IJ

2. Population n years agn = - g
(1)

Results on Depreciation : Let the present value of a machine be P Suppose it
depreciates at the rate of R% per annum. Then :

'l W
1. Value of the machine afléer n VEATS = ]"'| 1= --H—
| L0y
. _ P
2. Valee of the machine n years ago et
H
p [l
|'-. 100

If A iz B% more than B, then B is less than A by

R .
x
[['l[l} + F) Il.'ﬂl] &
If A iz R% less than B, then B is more than A by
|r—-*“ lﬂﬂ]%
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SOLVED EXAMPLES

Ex. 1. Express eack of the following as a fraction :

(1) 56% (i) 4% (fid 0.6% {ie] O.08%
: 36 14 ] V.
Hal. [” M - ﬁ - E hi'..l 4% = 100 25-
: 05 & 3 - Q0B 8 1
(i} DR s — @ ———m =——_ OORE = = - L
4 100~ 1000 500 () 00B% = T50 = T0000 - 150
Ex. 2. Expreas each of the following as a decimal ;
(i) 6% (if) 28% (i) 0.2% (ivl 0.04%
L1 28
Sol. GBE = =— = L0H i RN = — = (128,
“w W 100 uh 100
02 : (.04
(i) 03% = ﬁ = (L0002 {ivl 0D = TEE- = (000,
Ex. 3. E.q:lriﬂ each of the fellowing as rate percent :
s (i 55 CHED 0.004
36
% 3 575 B
Bol. | — % LN il ‘El 63—
{i) 3% [ % ] i‘ 5 :
4 3
i) 0 = —— = 100 |% = 4%,
8 1000 rmm filk
—_— ] 75
mnag-—“—-(qu‘;- 5755,
Ex. 4. Evaluats :
(i) 28% of 450 + 45% of 250 (Bank BO. 2003
(id IF%'.'E— of GOO gm - 337:5 of 180 gm (R.R.B. 1998)

{
Bel. (i) 28% of 450 + 45% of 280 = _%ilaﬂ+%xﬂﬂﬂ] = (126 + 1DG6) = 252

£
{1} 153‘!* of &0 gm EE;‘E- of 180 gm

[[_H_xm|_ Engm]| gm = (100 - 60) gm = 40 gm.

3 100 AN 3
Ex. 5. (i) 2 ia what perceat of 507 {8.5.C. 2000)
Cid % iz tohat percentd of ; T (5.5.C. 2002)

Leiid What percent of 7 is 54 7
{iv) What percent of 2 metric tonnes fg 40 quiotals 7
(v} What percent of 8.5 litres iz 130 mI 7

1
Sol. (i) Required percentage = [%an (% = 4%,

4
I

: (1.8
{in Hequ.mai peroEnlage = | Eanl:T:-clﬂl-l,',l T = 1509,
L -

! y
Liif) Required percentage = IIHTd'x 100 % = 1200%.
i i
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(vl 1 metric tonne = 10 gquintals,

Required percantage = [ 50

2x 10

130
6.5 1000

K ']frl']]"-'i- = 2Krh

{vl Required percentage = [ xlm‘lﬂ = 2%

Ex. 6. Find the missing figures :
(i) % of 825 = 2.125 [ify 9% of T = 63 (iif) 0.25% of ? = 0.04

Bol. (i) Lot #% of 25 = 2.125. Then, ﬁ w35 m 2135 e x = (21265% 4) = BE.

3
{I‘:]L!-tﬁnl'::&&.'l‘htﬁ.i:—-ﬁﬂﬂ I!rﬂ'dhil‘:m:l|1--':|'-I:I
100 P 9 )
o 025 I'UJ:H:-:IEID
L Then, —— 5 = L) Y
(i} Let 0.25% of = 0.04. Then H:HZI; 004 = =x | 028 ] 16
El.?.ﬁﬁ:kilmhltinﬂg'h:—smuﬂ'?
3 'I’Eu B P | 2
18— o [ e | mi o
Sol 53 3 IDD] 5 0166, T 0133 Clearly, 0.17 is the greatesti.

Ex. 8. If the sales tax be reduced from Jiﬁ to a%w., then what diffecence doss it

make to a person whe purchases an articie with marked price of Re. 8400 7
(BEE.C. 2003

—{3-‘-@ of R, mm]

=[%_E-hﬂu mm_gﬁ:ul‘l‘hhﬂ}
A

_]:Lg{—x—l—-?.ﬁ-iﬂﬂ » Hs. 14.

Ex. 8. An inspector rqju:ti 0.08% of the meters as defective. How many will he
examine to reject 2 7 (M.A.T. 2000}

Sal. Lot the nomber of meters to be examined be x
& 1 ) (2% 1001007
Then, 0.08% ol = 2 {IUHHWEII;J 2 = 2 | = JI-‘.!IEIZI'EI.
Ex. 10. Sixty-five percent of 8 number iz 21 less than fourfifth of that aumber What
ig the number T
Bol. Lat the number be =
Thﬂ.,:-x-mﬁﬁur:}-m - ;:--%:—E] o 1Bx=2100 e x =140

Ex. 11. Difference of twe oumbers 15 1880, If 7.5% of one oumbear iv 12 5% of the other
oumber, find the two nombers.

Bol. Let the numbers be xand ¥ Then, 75% of r = 126% of ¥ = I=%}'_§j.
}
Now, ¥ - y= 1660 = %p_y_:ssu = g_ﬁ'—lﬁﬁﬂ - y= 'Eﬁi"‘ﬂ - 2490,

3
Cne number = 2490, Second number = 3} = 4150,
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Ex. 12. In axpressing a length 81.472 km as nearly as possible with three significant
digita, find the percentage grror (8.8.C. 198T)
Bol. Error = (81.5 — 81.472) km = D.028,

| 0.028
L E1.47T2

Ex. 13 I'n an election boiween iwo candidates, 75% of the voters cast their votes,
out of which 2% of the votes were declared invalid. A candidule got 9261 votes which
were T5% of the total valid votes. Find the tota] number of votss anrolled in that election.

Eeguired percentage :Il:llﬂ]'i = D034%.

(8.8.C. 2003}
Sol. Let the total number of votes enrolled be x Then,
Number of vobes cast = 75% of x Valid votes = 38% of (76% of x)
T8% of [08% of (TH% of x)] = 8261
76 98 T6 ) { 9261 = 100 = 100 = 130
* |70 *T00 ™ foo * =) " I e E S e }"”‘”ﬁ

Ex. 14. Shobha's Mathemsatics Test had 75 problems i.e., 10 arthmetic, 30 algebra
snd 35 geometry problems. Although she answared 70% of the arithmetic, 40% of the
algebra and 60% of the geometry problema correctly, she did nat pass the test because
she got less than 80 of the problems right. How many more questions she wounld have
nesdad to answer correctly to earn a 60% passing grade ? (C.DD.5. 2002)

Bol. MNumber of questions attempted correetly = (70% of 10 + 40% af 30 + 60% of 35)

= (7T +12 + 20) = 400

Questions to he answered correctly for 80% grade = 60% of 76 = 45.

Regquired number of questions = (45 — 40) = 5.
Ex. 15. If 50% of (x — y) = 30% of (x + 3, then what percent of x is y 7

(£.5.0. 2003)
B ]

Bol. G50% of (x - ¥) = 30% of (x +¥ = ﬁﬁh_ﬂ_ ﬁr:.-r;.-r
P filx=pi=diz+ ) & 2x=08r = 1= 4y

H&quirﬁdw:mtme:[-xlﬂﬂ]‘} [ AIMJ% 2%,

Ex. 16. Mr Jooes gave 40% of the moner he had, to hiz wife. He also gave 20% of
the remaining amount fo cach of his three sens. Half of the amount now left was spent
on migcellansous items and the remaining amount of Rs. 12,000 was deposited in the
bank. How much moeneyr did Mr Jones have initially?

Sal. Let the imitial amount with Me Jones be Bs. x Then,

N
Moner gil'Eﬂ.Tl}“'i.rt = Fa. 40 ¥ = Ha m.“ﬂlll‘!ﬂ?"ﬁﬁ [;—E = Has. ‘h.
100 5 J 5
(20 Y] o Bx
M i = Ra |8 5 Sy - sy
oney given te 3 sens B [ Ek]UD 5 )| T
r3x 9z &x
Balance = Rs, | . ——
ks 2 o 88

1 6=z 1z

A i i ted i [ — | = Rs. —.
FmOLE posited in bank = Hs .EEEE] =
&x 12000 = 25
7]

8o, Mr. Jones initially had B= 1,00,000 with ham.

=12’4H?E|ux—[ |-lﬂﬂﬂﬂﬂ
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Shert-cut Method : Let the initial amoont with Mr Jones b Bs x
Then, %[mﬂ—thmﬂa- of (100 - 40¥% of = = 12000,

Exﬂxﬂx:.-:lmm = iJ.::lEI:I-I:I-I:I -1 :-[—tmx25]=1ﬂmm-
2" 100 100 3

Ex. 17. 10% of the inhabitants of a village having died of cholers, a panic sst in,
during which 25% of the remaining inhabitants loft the village. The population is then
reduced to 4050. Find the number of original inhabitants. (5.5.C. 3D02)

Bol. Let the total number of eriginal inhabitants be x

Then, (100 = 25)% of (100 — 10K of x = 4050

i i L
- E,”;“_”]_.,mb 32 050 e x o [20TOX 0} e
100 100 10 b ETme)

Number of original inhabitants = GO0,

Ex. 18. A salesman's commission is 5% on all sales upto Ke. 10,000 and 4% on all
sales excooding this. He remits Rs. 31,100 to his parent company after deducting his
commission. Find the total sales. (R.E.B. 2001}

Sol. Let his total sales be e x Now, (Total Sales) — (Commission) = Re. 37,100,

x - [6% of 10000 & 4% of (x — 10000)] = F1100

o 525 10000+ it 1000m] = '91100 = x_soqoE10000 | o
| 100 100 ] 25
x 24x (31200 = 25
o x- a GIH0 = X g o [JLEW0 ) _ 50000,
by % - i I .

Total sales = Rs. 32,500,

Ex. 19.'Raman’s salary was decreased by 50% and subsequently increased by 50%.
How much percent does he lose 7 {(Hotel Management, 2003)

Bo0l. Let original salary = Rs. 100,
New final salary = 16066 of (50% of Hs. 100) = Rs

& Decreass = 25%.

Ex. 20. Paulson spends 78% of his income. His income ie increased by 20% and he
increased his expenditure by 10%. Find the percentage increase in his savings.

Bel. Let original income = Rs. 100. Then, expenditure = Rs. 75 and savings - Rs. 25.

i -
.:Lﬁux o .'-t:Il:l{;I = Ra. 75.
1100~ 100 )

New income = Bs. 120, Mew npm:iil'.um-Ru.[lngﬁ]:Rm}Eﬁ.
MNew savings = Rs, [120—E5:1 = Rs. E
2 2
[ncrease inﬂuinp=Ru.[TE—?-'i1|='H3_%.
2 J 2
.
Increase® = 25!. lxiﬂﬂ}%lﬁm.
\2 " 25 J

Ex. 21. The salary of & person was reduced by I0%. By what percent should his
reduced salary be raised so as to bring it st par with his original salary 7
{8.8.0. 2004)

Sol. Let the criginal salary be Rs. 100. New galary = Rs. 90.

Increase on 90 = 10. Increase on 100 = f%um!-& = 11!13-:5.
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Ex. 22. When the price of a product was decrossed by 10%, the number seid increased
by 50%. What was the effect on the iois] revenve 7 (R.B.I. 2003)

S0l. Let the price uf'me_pruducthe Rz, 100 and let criginal sale be 100 pisces.
Then, Total Revenue = Rs, (100 = 100) = Ra 10000
KNew revenue = Re (00 = 1300 = Rs. 11700,

Inerease in revenue = [llm b 1m}-aa 17%. .
Ex. 23. If the oumerator of a fraction be incressed by 16% and its dencminator be
diminished by 8%, the value of the fraction is %, Find the original fraction.

Sol. Lat the original fraction be =

y

i
Then L15%ofx 15 _ 115z 15 _ x (15 92) _3
9% of y 18 92y 18 y \18 115] 4

Ex. 24. In the new budget, the price of kerosene oil rose by 26%. By how much parcent
must & person reduce his conyumption so that his expenditure on it does pot inerease?
; W, PR - | =
Sol. FReduction in censumption = [Ilﬂﬂ - RJ'?C mn]m (mﬁxlm]% = 2%,

Ex. 25, The population of & town is 1,T6400. If it increases at the rats of 5% par
annum, what will be itr population 2 years hence ? What was it 2 years ago ?

Bol. Population afier 2 years = 1?H-mn;[1 -r-r-ﬁ'—]E |r|'m-|.ﬂ|:| W -EJ: E = 194481
= LT 100 20 40 :

Fopulation 2 vears age = iﬂu: []?E-lm::cg? o EE] = 10000,

{]T%] 21

Ex. 26, The value of & machine depreciates et the rate of 10% per annum. If its
present value is Ke. 1,862,000, what will be its worth after 2 years 7 What was the value
of the machine 2 years ago 7

Sol. Value of the machine after 2 years

10 1] 9
= Rs. I&E:Bm::[i-—r llﬂﬂ-ﬂ-{ﬂ:--x { = Hs. 131220,
100 | 10 10,
Value of the machine 2 years ago
| 162000
1 10

:.[t-al[ ]t HJ[I'E-HH?A? ?]=R52ﬂ]ﬂﬂﬂ
100

Ex. 27. During one year, the population of & town incressed by 5% and during the
next year, the population decrensed by 5%. [f the total population is 9975 at the end

of the second year, then what was the population size in the beginning of the £ et year?
{Hotel Management, 2003)

5ol. Population in the beginning of the first vear

9875 [ 2 .au‘]

9975 x = x | = 10000,
[1-_. J T

21 18
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Ex. 28. If A earns ﬂ%ﬁ more than B, how much percent docs B earn less thaa A?

[ [I!]ﬂ]
: 3 [ 100 )
Bol. Required percentage = X 100 % = oo %100 1% = 25%.
100 L 00 :
,

Ex. 28. If A's salary is 20% less than B% salary, by how much perceat is B's salary
more then Als 7

Sol. Required percentage = ﬁxlﬂﬂ]ﬁ = 25%.

Ex. 30. How many kg of pure sall must be added to 30 kg of 2% solution of salt and
water o inerease it to @ I0% solution 7 (M.A.T ZDO4)
I
Sol. Amount of salt in 30 kg solution -k%:m] kg = 06 kg

Let x kg of pure salt be added.

08+ x 10 2

8
j_— = = o n o ‘—_
Wez 100 e B0 4 100x = 300+ 10x ¢« x =240 = x 3-.33

Ex. 31 Due to & reduction of 6% in the price of sugar, a man is able to buy 1 kg

more for Rs. 120. Find the origina! and reduced rate of sugar
Sel. Let original rate be Rs. x per kg

_ =L Yz
Redwced Il'am-ﬂ'.ﬁ..[[]m —E-Jrlm.tJ—Ih-——per ke.

16
L8 | I -
lox ¢ x x b
16

So, original rate = Hs. 8 per kg
Redueed rate = Hs, [%xﬂ]pﬁpkﬁ- s 7.60 per kg

Exz. 32. In an examination, 35% of total students failed in Hindi, 48% failed fn
English and 20% in both. Find the pereontage of those who passed in both the subjects.
Sol. Let A and B be the sete of students wheo failed in Hindi and English respectively.
Then, n (A) = 36, o (Bl = 45, n (A ~ B} = 20,
5, nBAvBl=n(A+n(B)-ald~ Bl =35+ 45 - 20} = 60,
Percentoage failed in Hindi or English or both = 60%,
Hence, percentage passed = (100 - 60)% - 40%.
Ez 33. In an examination, 80% of the students passed in Englizh, 85% in Mathematiss

and 75% in both English and Mathematics. If 40 students failed in both the subjects,
find the total number of students.

Bol. Let the total number of students be x

Lot A and B represent the sets of students who passed in English and Mathematics

respectively

Then, number of students passed in one or both the subjects

sniAUuBl=piA)+n(Bl=npilAnB =80% of ¥+ 85% of ¥ = 75% of x
B0 85 FTOUE- ) 80 8

$#—1x ==

Tl Tt 0 F) T et ™
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Students who failed in both the subjects = |2 - |
% r
SD_%IMH‘!‘! 400, Hence, total number of students = 400,
EXERCISE 10
(OBJECTIVE TYPE QUESTIONS)
Directions : Mark (v") against the correct answer -
1. The ratio 5 : 4 expressed a5 & pereent eguals (8.5.C. 2000)
I:I;I 12.5% (b} 40 % [eh B id} 125%
2, 3.5 can be expressed in terme of percentage as : (R.R.B. 18088)
(a) 0.35% (b 3.5% {e} 36% (dl 35045
3. Half of 1 percent written as a decimal is : [B.5.C. 19848)
(&) D05 (b 005 {e) 002 i) 0.2
4. What s 15 percent of Rs. 34 7 {I.M.T. 2002
() Rs. 3.40 {by Rz. 3.75 (gl K=, 4.50 (ol Re. .10
B. 6% of 3% I -
(a) 2,25 By 2.40 (¢d 2,50 (dy 2.75
6.« BB% of 3T0 + 24% of 210 - 7 = 118 (Bank IO, 2003}
(ad 256 (b 258 (e] PRK [dl 258
T. 860% of 50 + 50% of 860 = 7 {H.B.I. 200a)
lal 4350 ihl 516 (ch B&0 {di 0
B 45% of T80 — 25% el 480 = 7 {(Bank PO 2002)
ia} 216 iy 217.50 (el 296.50 {dl 245
8, 407 of 1640 + 7 = 35% of 980 = 150% of 850 (ER.1.PO. 19497)
(@} 372 (b B4 2 {c) AAZ (e 1082
10, 218% of 1674 = 7 = 180
{al 0.5 (h 4 iol 6 (d) None af these
1L 6% of 264 iz the same as (Hotel Management, 2001)
() 10% of 44 (b 15% of 1066 il 20% of 142 [} Mane of these
12. 270 candidates appeared for an examination, of which 252 passcd, The puss pereentage
= -
(a) 80% [ b &3%% (el Hﬂé‘i (e} 1-;:.1%':&
13. 5 out of 2250 partz of earth is sulphur What iz the perecntage of sulphur in earith?
1 i s B!
) 50 (b 3 ic 15 (d 15
14, What percent of 7.2 kg is 18 gma 7
{a) D355 (b 255 (e 2.5% {df) 25%
15. 0.01 is what percent of 0.1 ? (5.5.0. 2000)
1 1
{a) 100 (b 0 ich 10 id) 1040
16, What perecot of Bs. 2650 is Ks. 198750 T [(Hotel Managemeant, 20:02)
{al B0% by TEE {ch AOS {di 907%
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Quantitative Aptitude

What percent of a duy is 3 hours 7 (R.EB. 2003)
1 2 b 1
12—% =] 18 =% —
[al 2 (i) 153‘3% (& 33 (.} 22‘3

It costs Re. 1 to photocopy a sheet of paper However, 2% discount is allowed on all

photocopies done afler first 1000 sheets. How much will it eost to capy 5000 gheets

of paper ? (IGNOU, 2003)

(a) Rs. 3920 ib) Rs. 3980 {c} Rs, 4900 (d) Re. 4920

A housewife saved Rs. 2.50 in buying an item on sale, 17 she spent Rs. 26 for the item,

approximately how much percent she saved in the transaction 7

{al &% (B 9% (el 10% {dl 11%
{Section Officers’, 2003)

How many litres of pure acid are there in 8 litres of 8 20% solution ?

(2} 1.4 (hy 1.5 (el 16 (ol 2.4

Rajeev buys geods worth Rs. 6650, He gets a rebate of % an it. After getting the

rebate, he pavs sales tax @ 10%. Find the amaunt he will have to pay for the goods.

{a} Ra. GETE. 10 (b s, 699920 {ch Rs, 5554 (Y Ra. 7000
(M.A.T 2002)

Which ane of the follewing shows the best percentage 7 (Hotel Management, 1996)
A84 405 500 480

(a) 540 {1 300 (e 700 (e} BE0

B of (25% of Re 1600 is

i) Rs, B b} Ra. 17.80 (el Rs, 20 {d) Ra. 25

0.15% of a;%sa of Hs. 10,000 is (8.5.0. 2002)

(a) Re, 0.05 ib) Rs. 5 ic) Re. 106 {d) Rs. 150

30% of 28% of 450 15 the same as

(o} 16% of 56% of 240 (B 60% of 28% of 240

(e GO% of 56% of 240 (] Nome of these

What is 25% of 25% oqual to 7

{a) 000625 (&) D.0625 {ed 0.R2S {d) G.25

What percent is 3% of 5% 7

(al 15% (b 30T {ch bl idh G5

4388 is 5% of ¥

fa) 4800 (&) 4840 (e} 4850 (d) 4880

M of 360 = 129.5 (Bank PEO. 2002)

ia) 36 1Bh 54 {ch 72 idh T

™ of 932 + 30 = 309.5 {(Bank PO. 2008)

(a) 25 (b} 30 {ch 35 (d} 40

45% of 1600 + 35% of 1700 = ™% of 3175 (Bank FO. 2000)

{a) 30 (b 38 (el 45 (d] None of thess

Gh% of 7 = 0% of 42250 (Bank BO. 2003)

(ad B4.5 (B 130 (¢} 130425 () 300

An agent gets a commission of 2.5% on the sales of cddoth If on & certain day, he gets
Rs. 12.50 #s commission, the cloth sold through him on that day iz werth

{a) Rs. 250 (b] Re. 500 (c) K= 750 {dy Rs. 1250

34. "If Rs. 2800 is % percent of the value of a house, the worth of the house (in Rs.) is :

(L.LC. 2003)
(a} 8,00,000 (b 9,80,000 () 10,000,000 (d} 12,00,000
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35, 15% of (1'% of 582 = 17.46

(a) 2 (B) 10 (d) 20 id) Wome of thess
38, J784 +7 = TER of 500 :

(a) 42 (b) 352 (e 362 d 372
37. "If 120 i= 20% of a number, then 120% of that number will be :

(m] 20 (k120 {ch 3BD (di T20

(Section Officers”, 2003)
38. Il 35% of a number ia 175, then what percent of 175 is that number 7

(o) 6% (b} B5% (g} 2E0% {d} Mone of thase
#8. Two-fifth of one-third of three-geventh of a number is 15. What is 40 percent of that
number ? (Bank PO. 2002)
im) T2 bl B4 (e} 138 () 140 (&) None of these
40, "The difference betwoen & number and its two-fifth is 510, What is 10% of that number ?
(&) 12.76 (B B& (6 204 (d} Mone of these

{Bank FO. 2003)
41. If 15% of 40 iz greater than 26% of 4 number by 2, then the number is :

(ad 12 (b 18 ie) 24 id} 32
42, BSubtracting 40% of a number from the nomber, we get the result ag 30, The number
is :
(ah 28 (&) 50 {c) G2 (d} T
43, If 36% of & number is 12 less than 50% of that number, then the number is
{a) 40 by 80 ie) &0 (d) B0
: (CRBI 1008)
44, The number which exceeds 16% of it by 42 i ; C.B.I 1887
(a) B (b} 58 fe) 58 {d) 60
45. What percentage of numbers from 1 to 70 have squares that end in the digit 1 7
(a) 1 (bt 14 (eh 20 (d) 21
(M.B.A. 2002)
48. By how much percent is four-fifth of 70 legzor than fve-zeventh of 112 7
[a) 24% (bl 30% {ch BT (d) 42%
47. If a number x is 10¢% less than another number v and ¥ i3 10% more than 125, then
x is equal to : (5.5.C. 2002)
{a} 123,75 (bl 140.55 {ct 144 id) 160

48. If T6% of a number is added to 75, then the result is the number itself. The number

I8 : {Section Officers”, Z001)
{a) 50 (b G0 {0l () 40

49. A number, when 35 is subtracted from i, reduces Lo its 80 percent. What is four-fifth
of that number 7 B.5R.B. 1958}
{a) TO (b a0 {cl 120 (d) 140

50. Which of the following multipliers will cause a number to be increased by 20.7% 7
{a) 1.297 (b} 12.97 (e} 129.7 () 12097

B51. "The sum of two numbers is 2450 I 6.5% of one number iz equal to 8.5% of the other,
then the aumbers are : (IGNOTT, 200d)
{a) 989, 1601 (b 1011, 1478 {g] 1401, 1086 (4} 1411, 1078

. 2R :
52, The sum of two numbers is = of the first mumber. The second number is what percent

of the first 7 _ {(Hotel Management, 1997)
(@) 12% b 14% (6 16% d) 18%



Quantitative Aptitude

If 26% af a aumber is subtractod from o second namber, the second mumber redoces
to its fve-gixth, What iz the ratio of the frst number to the second number 7

(gl 1:3 (b) 23 (W32 (di Dials inadequate
(5.8.1.B0O, 1908)

The difference of two nurnbers is 20% of the larger number. If the smaller number is
o0, then the lorger number iz : (E.5.C. 2000)

(a) 25 by 45 (cl S0 (d] B0
I

65. ! When any numbor is divided by 12, then dividend bacomes Im of the sther number.

61,

62,

By how much percent first number is greater than the second number 7
ial 150 (b} 200 Ll (d) Data madequate
{(Bank PO. 2000)

If one number is 0% of the other and 4 times the pum of their squarck is 856, then
the numbers are (Hotel Management, 1998)

{a) 4, B (& 8 10 (el 168, 20 (d} None of these
Two numbers & and B are such that the sum of 5% of A and 4% of B 15 two-thand of
the sum of 6% of A and 8% of B. Find the ratio of A : B (M.B.A. 2002)
{m) 23 (bl 11 (o) & - d (dva =3

Three candidates contested an election and received 1136, 7635 and 11625 wvotes
respectively What percentage of the tolal voles did the winning candidate get 7

{a) 57% (b G0% {cl GB'% [ S

(L.M.T. 2002)
“The population of a town increased from 1,78 000 to 282 500 in a decade, The average
percent increase of population per year 18 ; (C.B.1. 1997)
(a) 4.37% ibl B% {cl B% (dy 8.7T6%
A student multiplied a number by @ instead af % What iz the perecnlage error in
the caleulation ? £ (S.5.C. 1999)
fal 34% (bl 44% (¢} B4% i) B4%
A tempo i ingured to the extent of % of its original value, If the premium on it at
the rate of 1.3 percent amounts to Rs. 910, the original value of the tempo is
fa) Rs. 78,500 (b Re. Ho),U0H) (eh Rz B2 500 {d) Re. 87300

When 15% is loat in grinding wheat, a country can cxpert 30 lakh tons of wheat, On
the other hand, if 10°% is lost in grinding, it can export 40 lakh tons of wheat, The
preduckion of wheat in the country is
{a) 20 lakh tons ibt B0 lakh tona (e} 200 lakh tons {ef) B0 Jakh tons
‘In a competitive examination in State A, 6% candidates got selected from the total
appeared candidates. State B hod an equal number of candidates appeared and 7%
candidates got selected with 80 more candidates got selected than A What was the
number of candidates appeared from each State ? (8.B.1L.EO. 2000
(&) TED0 By A0 (c) B400 (edd Dhia imacderute
The price of & car is Hs. 325,000, It was insured to BS% of ils prige. The ear was
damaged complotely in an accident and the insurance company paid 90% of the insurance.
What was the difference between the price of the cor and the amownt received ?
&) Ms. 32,600 iby R=. 48,750 () B=, 76,375 (dl Rs. B1,260
(Bank BO. 2003)
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‘Guuri wenl 1o the stationers and bought things worth Re. 25, out of which 30 paise

went on sales tax on taxable purchases, Il the tax rate was 6%, then whal was the

eost of Lthe tax free ttems 7 (HM_A.T 2003)
() Rs, 15 (b Re. 15.T0 (el He, 1870 (d} Rs. 20

A batsman seored 110 runs which included 3 boundarics and 8 sixes. What percent
of his total score did he make by running between the wickets 7 (5.5.C. 2004)
(a) 45% () 45 () !--iﬁ‘ﬁ td) 55%

After deducting & commission of 5%, a TV, set coste Re 9508, Iis marked price is :
{#) Rs. 10,000 (B Hs. 10,075 (e) Rs. 10,100 {d) Hs. 10,500
A fruit seller had some apples. He sells 40% apples and still has 420 apples.
Originally, he had - (8.5.C. 2003)
[} BBE apples [b) 600 apples {¢) 672 apples (d) TOO apples
A person who spends ﬁﬁ%'ﬁ- of his income is able t save Bs. 1200 per month. His
monthly expenses (in Ke.) are (8.5.C. 1888)
(o} Ks. 1200 (B} Hs. 2400 fich Re 3000 {d} Ha. 3200

In an examination, 35% of the students paseed and 455 failed. How many siudents
appeared for the examination 7 (5.5.C. 2000)
{a] 494 {h1 TH) () 845 (d) 1300

In & market survey, 20% opted for preduct A whereas 60% opted for product B. The

remaining individuals were nol ceriain. If the dilference between those who opted for
product B and those who were uneertain was 720, how many individuals wrern covired
in the survey 7 .

[al 1440 (B L5040 (o A600 (dt Data inadeguate
A student has to obtain 33% of the total marks to pass. He got 125 marks and failed
by 40 marks. The maximuom marks are ; (C.B.1. 2003)
) 300 (b S0 rel &S00 Ll WOHBD

Io an dlection a candidnte whe gets 84% of the votes is elected by a majority of 476
vatns, What is the total number of voilcs polled 7 (Hotel Management, 2003)
ip) 672 (b T {¢) 748 (d) 848

In an alection between twe candidates, one got 55% of the total valid votes, 20% of
the vates wers invalid. If the total number of votes was 7500, the number of valid votes
that the other candidate jot, was (R.R.B. 2003)
{a) ZV00 (b) EA00 (el F00d {ad} 3100

At an election invelving two candidates, 65 votes were declared invalid. The winning
candidate secures 52% and wins by 08 vates, The total number of wotes polled is :
(2] 2382 () 2450 le) 2518 id) MNone of these
107% of the volers did pot cast their vote in an election belween two candidates. 104
of the votes polled were found invalid. The suceeasful candidate gol 4% af the valid
votes and won by a majority of 1620 votes, The number of voters enrolled on the volers'
list was : (8.8.C. 2003)
{a) 25000 (b 33000 {e] 35000 (] 400040

8% of the poople sligible te vote are between 18 and 21 years of age. In an election,
5% of those eligible to vele, who were belwesn 18 and 21, actually veted. Tn that
election, the number of persons hetween 18 and 21, who actually voled, was what
pereent of thode eligible to votn 7 (R.R.B. 1888)
{a) 4.2 (k) B4 il 68 (d) 8

In an election, 30% of the voters voted for candidate A whereas G0% of the remumining
voled for cundidate B. The remaining voters did not vote. 1f the difference between
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those whe voled for candidate A4 and those who did not vote was 1200, how many
individuals were eligible for casting vote in that clection *
(2} 10,000 (Y 450,000 (e} 60,000 [} 72,000
Two tailors X and Y are paid a total of Re. 650 por weok by their employer: If X iz
paid 120 percent of the sum paid to ¥, how much is Y paid per week ?
(&) Rs. 200 ib) Rs. 250 (¢) Rs. 300 {d) None of these
{N.LET. 2000)
While purchazing one item costing Bz, 400, | had to pay the sales tax at 7% and on
another cogting Rs. 6400, the sales tax was 9. What percent of the sales tax I had
to pay, taking the two items together on an average 7
13 15 1

(&) &% (b EEEE (e ﬂ-ﬁ'ﬁ- {dh EE'E
A studenl secures 3%, 80% and 54% marks in test papers with 100, 150 and 200
respectively as maximum marks. The percontage of his aggregate is :
{a) B4 {by 88 (ch 70O {d) None of these

(Hotel Management, 1993}

1108 boys and 700 girls are examined in a test; 42% of the boys and 30% of the girls
pass. The percentage of the total whe failed is :
(2} 58% (b Eﬂ%&. (c) B4 (d) 78%

In a certain school, 20% of studenis are below 8 years of age. The number of stodents

2
above B years of age is 3 of the number of students of B vears age which is 48. What

is the total number of students in the school ? {Bank PO, 2003}
{a) 72 (& 80 (ed 120 {di 150 (el Mame of thess
In an examination, 5% of the applicants were found ineligible and 35% of the eligible
cundidates bolonged to the general category IT 4275 eligible candidates belonged to
other categories, then how many candidates applied for the examination 7
ia) 30,000 (b 35,000 (gl 37,000 (d} MNone of these
(Hotel Management, 1998)
Two students appeared at an sxamination. One of them eecured 9 marks more than
the other and his marks was 6% of the sum of their marks. The marks obtained by

them are : (5.5.C. 2004)
(a) 28, 30 iby 41, 32 iz 42, 33 idh 43, 34
If x is 90'% of y, then what percent of xis v 7 (8.5.C. 189T)
(a) 90% (b} m1§& (el 111%% (d) 190%
x% of ¥is ¥% of :

A I "
{a) x ib)y 100x e Toa id 100
I 2¢% of & = b, then b% of 20 iz the samo ac : (Hotel Managoment, 1998)
(a) 4% of & (& 0% of a ich 20% of o [d] MNone of these
Il x% of ¥ iz lhe same as % of &0, then the valoe of 2 is -
Lal 320 (b 400 i) 540 {d) None of thesa
If x% of yis 100 and ¥% of z is 200, then find a relation between x and =
{nﬁla-i (B £ =2x f.-:i:=% idl z=4x

(85.8.C. 2002)
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If p% of p is 36, then p is equal to : (8.8.C. 2000)
(a} 15 1B G0 () BN () B600
If x% of y is equal to z, what percent of zis x 7 (5.5.C. 1985)
2 ]

2 x 100 100
(&} 100 {b) ‘ﬁ L&) ¥ id) p-
If x ia 80% of v, then what pereent of 2x 18 5 7 (C.B.I 1998)
(=) 40% (b E:i%f.e (e Eﬁ%‘!‘: (d) 80%
Subtracting 6% of x from x is equivalent to multiplying x by how much ?
(al D054 (k) 0.54 (e} 5.4 {d) B4
(% of y+ o of x) =2
(a) ¥% of ¥ b} y% of x (ch 2% of xy (d) % of 3
If A is 150 percent of B, then B is what percent of (A + B) 7
{al :-:3%1- (b} 40% (b EE%‘;& (d) T5%
If 8% of x = 4% of y, then 20% of x is :
{2) 10% of ¥ (b 16% of ¥ {ct BO% of ¥ {d) None of these
If20% of A=B and 40% of B = C, then 60% of (A + B) is :
(&) 30% of C (k) 60 of C (e} T6% of C {d) Kone of these
If % of & is the same 33 ¥% of b, then #% of b s :

(a) 2 of a (bt 2% of a (e} ??& of a {d) None of these
£ X

IfA =x% of yand B = % of x, then which of the following is true ¥

(a) A is smaller than B. (b} A iz greater than B.

(¢} Helationship between A and B cannot be delermined.

(dl If x is emaller than ¥, then A ie greater than B

ied None of these {Bank P.O. 2003)

33%‘3:- of @ man’s daily output iz egual to 50% of a second man’s deily sutput. If the
second man turns out 1500 screws daily, then the first man's output in terms of
making screws (s :

(a) H00 (i} 10RO (g} 2000 Loy 2250

Directions (Qoestions 102 to 108) : A surveyr of magazine reading habits of the
people living in five cities F, @ R, § and T is summarised in a table given below. The
Column I in the table gives percentage of magasine-readers in each oity whe read only
coe magazine 8 week. The Column IT gives the total number of magazine-readers who
read twp or more magazines & week. Read the table and then answer these questions ;

(85.5.C. 1959)
City I 1
p , 5 8000
Q | BD 3500
R &0 000
g | 55 2700
T | 25 4200
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The city with the lowest number of magazine-readers is @
ral Q (b K a5 (di T
Which city has the highest number of magazine-readers who read only one magarine

a week 7

(a] P (B 0 il R {di 5
The highest number of magazine-readers in any given ity is -

(&) 17500 (B 18000 (e 24000 () B0000
How many magazinereaders in city  read only one magazine a week 7

fa) 14000 (k) 1B000 (¢} 12500 {dl 16500

The total number of all the magarine-readers in the five cities who read only one
magatine a week ia :

fa) 19400 [l 24000 (£} 41200 (dy 42000

Hohit spends 40% of his salary on food, 20% on house rent, 10% on entortainmoent and
10% on conveyance, If hiz savings at the end of a month are Rs. 1500, then hiz monthly
galary is (8.8.C. 2003)
la) Rs G000 (b Bs, 7500 {c) Hs, KOO0 (d] Rz 10,000
Kunal spent Rs. 35,000 in buying raw materials, Rs. 40,000 in buying machinery and
20% of the total amount he had as cash with him. What waz the total amount 7
(&) Rs, 80,000 (b Ra. 85750 () Rs. 90,000 (d) Re. 837560
Gaurar spends 30% of his menthly income on food articlez, 40°% of the remaining on
conveyance and clothes and saves 50% of the remaining. If his monthly salary 1=
Rs. 18,400, how mwuch money does he save every month ?

{a) Rs, 3524 (bl Fe 38564 (o) Hs, 4264 id} Hs, GHES

A spider climbed ﬁzliaa of the height of the pols ifv ome hour and i the next hout it

— mém of the remaining height. If the height of the pole iz 192 m, then

distance climbed in second hour is (Section Officers’, 2003)

(@) 3'm (bl 5 m {cl ¥ e (gl ® m

A man zpends 35% of his incomo on fosd, 25% on children’s education and 80°% of the

remaining on house rent. What percent of his ineome he is left with 7

{a) 3% {b) T () 12% (dl 14%

From the salary of an officer, 10% is deducted as house rent, 200 of the rest_ he gpends

on conveyanee, 0% of the rest he pays as income tax and 10% of the balance, he

spends on clothes. Then, be is left with Rs 185582 Find his total salary

ia) Rs. 25,000 tb) Rs. 30,000 (e} Rs. 35,000 id) Re. 40,000
(LLC.AAOQ, 2003)

113" Aman gave 404% of the amaunt he had to Rehan. Rohan in turn gave one-fourth of what

114.°

115,

he received from Aman to Sahil. After paying He 200 to the taxi driver out of the
amount he got from Rohan, Sahil now has Re. 600 left with hir. How much amount
did Aman have 7 (Bank FO. 2000)
(a) Rs. 4000 (b1 K= S000 (¢) Bs. 12,000 (dh Data inadequate
Sameer spends 24% of his manthly income on food and 15% on the education of his
children. Of the remaining salary, he spends 25% on entertainmeni and 20% on
convevance. He is now left with Hs. 10,736, What iz the maonthly salary of Samoer 7
(2l K=, 27,600 (&) Fs. 23,000 (gh = 31,200 {dh R=. 32,000

{(Bank PO. 2004)
405 swoets were distnbuted equally among children in such a way that the number
of sweets received by each child is 20% of the total number of children. How many
sweets did each child receive ? (Bank FO. 300E)
tah B By 16 fcl 18 idi 45
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The sum of the number of bove and girle in a school iz 150, If the number of boys is

x, then the number of girls becomes % of the total number of students. The numbser

of boys is : (8.8.C. 2002)

[a} 40 (bl 50 {e} GO id) 90

In &n examination of o guestions, a student replied 15 out of the first 20 questions

correctly OF the remaining questions, he answered one-third correctly. All the questions

have the same credit. IF the student gots 50% marks, the vileé of 8 is :

(a} 20 (b} 40 {¢h GO () 1000

The salaries of A and B together amount to Ra. 2000. A sponds 95% of his salary and

B, 85% of his. If now, their savings are the same. what iz A'c salary 7

ia} Rs. 750 {b) Ra. 1250 (¢} Re. 1500 (d) Rs. 1600

A's marks in Biclogy are 20 less than 25% of the total marks obtained by him in

E‘intihf.?hhths and Drawing, IT his marks in Drawing be 50, what are hig marks in
2

(m) 40 ihy 45
(e 50 1d) Cannol be determined

. A salparman iz allowad E%ﬁi disepunt on the total gales made by him plus & bonuoe
of ;E— on the sales over s, 10,000 IF his total earnings wers Re. 1590, than his total
gales (in Ha) wore : (C.B.1. 2003)
(&) 30 00 (B 32,000 (el 000 {d) 35,000

In an examination, there are three papers and a eandidate has to got 36% of the tolal
to pass. In one paper. he gets 62 out of 150 and i the second 35 oot of 160. How much
must be get, out of 180, in the third paper fo jusi qualify for & pass 7
{a) G058 ib) B3 iel T (dl 71

(E.R.B. 2002)
In a History examination, the average for the entire class was 80 marks, If 104 of
the studente seorvd 95 marks and 30% scored 90 marks, what was the average marks
of the remaining students of the class ? (D.M.R.C. 2003)
{@) 65.5 (bl T72.5 (el Th idl BS

. A scored 50% marks and failed by 15 marks. B scored 40% marks and obtained 30

marks more than those required to pass. The pass percentage is @ (8.85.C. 2003)
{a) 33% i) 38% fel 43% idh 46%

The price of & table is Re. 400 more than that of a chair If & tables and 6 chairs
iogeither cost He. 4800, by what percent 15 the price of the chair less than that of the
table ?

(a) 33%% 1B} 60% (e GEE‘.{- {d) None of these
In & recent survey, 40% houses conlained two or more people. OF those houses containing
only one person, 25% were having only a male. What is the percentage of all howses,

which contain exastly one female and no males 7 (5.B.LEO. 2000}
tLa) 15 (B 40 ict TG
{d} Can't be determined {® MNone of these

In a city, 40% of the people are illiterate and 60% are poor. Among the rich, 10%% are
illiterate. What pereentage of the poor population is illiterate 7

{a) 6% Lbad A0 ; (e Bl 1l Mene of thesd
OF the 1000 inhabitants of o town, 60% are males of whom 20% are literate. If, of all
the inhabitants, 25% are literate, then what percent of the females of the town are
literate ¥ (M.A.T. 2003}
(a1 Z2.5 (BY 27.5 (e] 325 (d} 275
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E‘F'éﬁ of the candidates in an examination were girls, 75% of the boys and E-E%‘i-

of the girls passed and 342 girls failed The oumber of boys failed was
(m) AB0 (b 360 {c) AT (d) 380
(8.8.C. 2003)

]
3 part of the population in a village are males. If 30% of the males are married, the
percentage of unmarried fomales in the total population is :

(a) 20% (b m%a (c) 40% (d) T0%

In & cty, 35% of the population is composed of migrants, 20% of whom are from rural
areas, (Of the lvcal population, 48% is female while this figure for rural and urban
migrants iz 30% and 40% respectively If the total population of the cty is 728400,
what is its female population ?

(@) 324138 i) 40580 () S09940 (d} Mane of these
The boys and girls in a college are in the ratio 3 ; 2, If 20% of the bovs and 25% of
the girlz are adultz, the pereentage of studenis who are not adalts is -

Lal DER (b} 67.0% ich 78% (d} B2.5%

A man bought a house for Rs. 5 lakhs and rents it. He puts IE%‘I- of each month's

rent aside for repairs, pave Ra. 1660 nz annual myes and realizes 10% an hiz investment
thereafter. The monthly rent of the house is ;

{m) Hs, 2460 (b Rz, 2500 (e} Rs. 4920 (d} Rs. GOOO

A debtor can pay 8T paise in the rupee, but if his creditors would take 20% of his debts,
he could pay them anmd have RB=. 42 left. His debls and assebs respncﬁ.‘l.ﬂj are |

(a) Ha, 400, Hs 530 (b) KHs. 500, Hs. 521

(ci Ra. 600, Bs. 5ok {d) Hs, 1000, He. B35

If the price of a book i first decreased by 25% and then increased by 20°%, then the
net change in the price will be : (8.8.C. 2003)
{a) No change [B) 3% incroase {¢) 5% decrease [d) 10% decrease
The price of a shirt is increased by 15% and then reduced by 15%, The final price of
the shirt - (Hotel Management, 2002)
{a) does not change (B) increases by 2.25%

(¢} decreases by 2.26% (d) Mone of these

A number is decreased by 10% and then moreased by 109%. The number so obtsined is
10 less than the original number. What wes the original number ¥  (8.8.0. 1988)

{a) 1000 {bh 1050 i) 1500 (d) 2000
The price of an article was increased by &%, Later the new price was dereased by @5
Il the latest price was Re. 1, then the original price wag ; (5.5.C. 2004)
1=7
(a2} Re. 1 f oL
a b Re [ 100 ]
_ X

(&) Rs. - e .. W

100 10000 - =~

Peter could save 10% of hus income. But two years later when his income is increased
by 20%, he could save the sume amount only as before. By how much percent has hig
expunditure increased 7 (B.R.B. 2003)

(a) 22% ib) 223* (e ﬂ%ﬁ (d) 24%
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Madan pays income tax at the rate of 10%. If his income increased by 10% and hie
tax rale increases Lo 15%, his net income would increase by Rs. 350. What is Madan's
income 7

{a) Rs. BOO0 (B Hs. 10,000 (¢} Rs. 12,000 () s, 14,000
Mr. X, a businessman had the income in the year 2000, such that he earned a profit
of 20% on his investment in the buginess, [n the vear 2001, his investment was less
by Ra. 5000 but still had the same income (Income = Investment + Profit) as that in
2MM). Thus, the percent profit earned in 2001 increased by 6%, What was his investment

in 3000 7 (5.B.I.PO. 23001)

(a} BRs. 102000 (b} Rs. 1,05,000 (¢) Bs, 1,580,500

(d) Data inadequate (e None of these

What percent decrease in salaries would exactly cancel out the 20 percent increase 7

(4 15% (5 18 te) 20 id) 33%
(8.8.C. 2000)

A pumber is incremsed by 20% and then again by 20, By what percent should the
increased number I:-t*reduuedauutngur.h-:k the original number 7 (8.5.8. 2004)

{al 19%‘!: (b EI[IE*I:- fe) d0% (dh 4a4%

The price of a T.¥. sot i= docreased by 25% as a result of which the sale increased by
20%. What will be the effect on the total revenue of the shop ? (Bank PO. 2003)

{a) No offect ib) 5% decrease {g] A% increass
(d) 1% increase (¢ MNonse of these

The price of tea being inereased by 20%, a man reduces his consumption by 20%. By
how much percent will his expenses for tea be decreased 7 (8.5.C. 2003}
{a) 2% {b) 4% (& 6% ) 3%

Entry fee in an exhibition was Re. 1. Lates, this was reduced by 25% which increasad
the sale by 20%. The percentage increase in the nomber of visitars is

(o} G4 (b} BT (et 60 id) 66

The ine e of a broker remains unchanged theugh the rate of commigsion is increased
from 4% to 5% The percentage of slump in business is :

(2} 1% (bl 8% (e 204% id) Blre
In & fraction, if numerator is increased by 40% and denominator is increased by 80%,
then what fraction of the original is the new fraction ? (8.B.L.PO. 2000)
1 T B
(&) 2 ] 3 el 18 {d) Data inadequats
If the priee of petrol is increased by 30%, by how much percent g car owner must reducs
his consumption in order to maintain the same budget ? (8.8.C. 2000]
(2) 21% (B) 21%5 (e} 23_3 (d) 33%

The price of wheat falla by 16%. By what percentage a person can increase the
consumption of wheat so that his overall budget does not change 7 (M.B.A. 2002)
fa) 16% {b) 18% (¢} 18.5% () 19%
The price of oil is increased by 25%. If the expenditure is not allowed to increase, the
ratio between the reduction in consumption and the original consumption is
(g) 1:3 (b1 1:4 (c}1:5 (ch1l:86
If the price of sugar rises from Fs 6 per kg to s, 7.50 per kg, a person, Lo have no
inerease in his expenditure on sugar, will have to reduce his consumption of sugar by
{a) 15% (b 20% (el 25% (dh 30%



154,

158.

157.

158.

158,

Cuantitative  Aplitude

Prices register an increase of 104 on foodgrains and 15% on other items of expenditure.
If the ratio of an emploves's expenditure on foodgraing and other items be 2 : 5§, by
how much should his salary be increased in order that he may maintain the same level
of eonsumption as before, his present salary being Rs. 2500 7

{a} Ha. 32375 1B Hs. 3560 (o) R, 36050 [} Mome of these

. A district has 64000 inhabitants. If the pepulation increases at the mte of i%‘ﬁc par

annum, then the number of inhabitants at the end of 3 vears will be (5.5.C. 2003)

{a} GROL] (b GBOZ1 {1 BOI0N (et 0000
If inflation increases at a rate of 8% pa., what will a Rs. 20 article cost pt the end
of twa vears 7 (Bank IO, 1999)
(@) Between Re. 20 and Rs. 21 (b} Between Rs. 21 and Rs. 22
(¢} Between Hs. 22 and Hs. & (d} Beteson He 23 and Ra. 24

. The population of a town was 1,80,600 three years ago. If it inereased by 3%, 2.5%

and 5% respectively in the last three years, then the present papulation is :

) 1,77.000 thy 1,77.3085 (e 1,77461 [y 1,777,606
{(IGNOU, 2003)

The population of a town 2 years ago was 82,500, Due to migration to big cities, il

decreasges avery year at the rate of 4%, The present population of the lown is :

ial 66,700 1Bl 57,600 (e) 38,800 ) B0
(8.5.C. 2004}
-Dq:mat:iltim] applicable to an equipment is 20%. The value of Uhe equipment 3 years
from now will be less by ¢ ; (M.B.A. F00Z)
() 45% (B} 48.8% (¢ 51.2% [l B0%
The population of & town increases by 5% annually If its population in 2001 wae
1,38.915, what it was in 1908 ? (R.E.B. 2001)
(@) 1.00,000 k) 1,008,000 (e} 1,10000 id) 1,20.000

The value of a machine depreciates at the rate of 10% every year It was purchased

A yeara ago. If its prosent value i= Re 8748, its purchase price was :

(a) Bs. 10,000 (&) Ra. 11,373 (ch Ha, 12,000 {d) s 12,500
{(A.A.0. Exam, 2003)

180. ‘In the month of January, the Hailway Police caught 4000 ticketless travellers. In

161.

February, the number rose by 5%. However, dus to constant vigil by the Police and the
Railway stafl, the number reduced by 5% and in April it farther redused by 10%. The
total number of ticketless travellers eaught in the month of Apnl was :
fa) 3125 [b) 3256 (g) 3575 () Z591
(M.B.A. 1888)
The population of a variety of tiny bush in an experimental field increased by 10% in
the first year, increased by 8% in the second year but decreased by 10% in the third
vear. If the present number of bushes in the erperimental field is 26730, then the
number of bushes in the beginning was (M.AT. 2002
(o) 25000 {h) 27000 () DE000 () 24800
The production of a company has= ups and downs evory year The production increases
for two consecutive yoars consistently by 15% and in the third year il decreases by
10%. Again in the next twe years it increases by 15% each year and decreases by 10%
in the third vear. If we start counting from the year 1998, approximately what will
be the effiect on production of the company in 2002 ¥ (Rank PO. 2002)
fa) 2T% increase (B 32% increasc (e 37T% increass
(dr 4% increase (el H2% Increasoe
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163,

164.

165,

166,

167.

168,

168,

170,

171

172,

173.

174.

178.

176.

The present population of 4 country estimated to be 10 crores is expected to increase
to 14.31 crores during the next thres vears. The uniform rate of growth iz
(o) 8% (&) 10% (2 12.7% idl 15%
A bl:l.]]d.il‘l.i worth fis. 1,39, 1080 1= constructed on land worth Bs. T2 900 After how many
years will the value of both be the same if land appreciates at 10% p.a. and building
depreciates at 105% pa. ?

1
() 15 (b 2 (0 23 (d) 3
The population of a town incresses 4% annually but iz decreased by emigration
annually to the extent of (172%. What will be the increase percent im 3 years 7
Lml 9.8 (h) 10 (£) 10.5 (d} 10.3
The current birth rate per thousand is 32, whereas corresponding death rate 15 11 per
thousand. The net growth rate in termas of papulation inerease in percent is given by :
() D.0021% by 0021% (e} 2.1% (gl 21%

The total population of a village is 5000. The aumber of males and females increases
by 10% and 15% respectively and consequently the papulation of the village bacomes

GB00. What was the number of males in the village ? {Bank PO. 2003)

o) @000 (b)) 2500 [ 30D () 4000

A income 1= 25% more than Bs income Ba income in terms of A's income 1= ;

a) THE% (b 0% Loh S {dl 5%

Ae salary ie 5FEF more than B, How much percent i5 B's salary less than A% 7

(2} 33% 1B) 1‘]-}'!: (et sa%m (d) m%a&
(8.5.C. p0DR)

If A's height e 40% less than that of B, how much percent B's height is more than

that of A ? (8.8.C. 2000}

(&) ."L'!%"E i by 0% {8 &% e i) E&%%

pis six times as large as g The percent that g i= less than p, i ¢

{al 15% { by G {el Eﬂ% [k 8

Two numbers are less than a third number by 30% and 37% respectively How much

percent is the second number legs than the Gret 7 (8.5.0. 2002)

(a) 3% (b 4% {cl T% {ef} 10°%

Two numbers are respectively IE%% and 26% more than a third number. The first

numbor as a percentage of the second number is : (C.B.1. 2003)
(a) 50 [ by GO (el TG (d) 80

Az salary ig 40% of B's salary which is 25% of Cs salary What percentage of C3
salary is A% salary ? (M.B.A. 2003)
(o) 6% 1B 105% (eh 15% id) 20%

5% of income of A ix oqual to 15% of income of B and 10% of income of B is egual
o 200 of income of C. IFCs income is Rs. 2000, then the total income of A, B and

s :

{a) Ra. G000 iby Rs. 14,000 (¢} Rs. 18,000 {d)Y Re. 20,000
Peter carned 40°% more money than Albert Albert earned 20% less than Michael,
Peter carned more than Michasl by ; (5.5.C. 2003)

Lal 10% (b 12% [ 20% (dl 25%
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177. " Amit's monthly income iz 30% more than that of Reunag, Baunag's monthly income is
2% less than that of Deepak, If the difference between the monthly incomes of Amit
and Deepak iz Hs. B00, what is the monthly income of Raunag 7 (Bank PO. 1999)
(e} Hs. 12,000 (b} Ra, 16,000 {e) Rs. 20,000
(d) Data inadeguoabs (e Mane of these

178. In an examination in which full marks were 800, A gets 20% more than B, B gets 20%
more than C, and C geta 15% leas than D, If A got 676, what percentage of full marks
did [} ged (approximatsly) 7 (R.R.B. 1988)
(a) 45.7 (b) 51.2 {¢) 58.8 id 61.7

178. In an sxnmination, the pereentage of students qualified to the number of studenis
appeared from school A i T0%. In school B, the number of students appeared is 20%
more than the sindents appeared from school A and the number of students qualified
from school B is 50F% more than the students qualified from school A. What is the
percentage of students qualified to the number of students appesred from school B ?

(&) 30% (B TD% (¢l TB.5% {d} 87.5%
(Bank B0, 1959)
180. 'Fresh fruit contains 68% water and dry fruit contmins 20% water. How much dey froit
can be obtained from 100 kg of fresh froits 7 (B.5.C. 2004)

(a) 32 kg (b) 40 kg () 52 kg (d) 80 kg

1BL. A large watermelon weighs 20 kg with 96% of its weight being water It is allewed to
stand in the sun and some of the water evaporates so that only 95% of its weight i=
water. iz reduced weight will be

(al 16 kg (b 16.5 kg {e) 1T kg ) 15 kg

182. How much pure alecohol has to be added to 400 ml of & solution containing 15% alcohol
to change the concentration of alecohol in the mixture to 32% 7 ©(B.5.0. 2003
(&} 60 ml (b} 68 ml fg) 100 ml (dy 125 mil

183. Milk contains 5% water What quantity of pure milk should be added to 10 litres of
milk tw reduce this to 2% 7 val:l.E EBOQ. 2003)
{a) & litroe ib) 7 litres (el 15 Litres
(di Cannot bo determined (g) Mone of these

184. The guantity of water (in ml) needed to reduwee 9 ml shaving lotion containing 50%
aleohol to a lotion containing 20% aleohol, is :
ia) 4 (b 5 le) 6 d) 7

185. To a sugar solution of 3 litres containing $0¢°% sugar, one litre of water is added. The
percentage of sugar in the new solution is :

() 13%*1 (b 15% (ch 20% (d) 33%

186. One type of liquid contains 20% waler and the second type of liquid containg 35% of
water. A glass is filled with 10 parts of first liquid and 4 parts of second lguid. The

percentage of waler in Lthe new mixture in the glass is : {C.B.I1. 1997}
(a) 20% (b) 24%% (0 37% (d) 40%

187. 'In some quantity of ghee, G0% is pure ghee and 40% is vanaspati. 16 10 kg of pure
ﬂ'lﬂ-‘ﬂ added, then the strength of vanaspati ghee becomes 20%. The original quantily
(Hotel Management, 2003)

{:J'Iﬂhg ib) 15 kg () 20 kg (d) 26 kg
1BB. The weight of the container alone iz 25% of the container flled with a certain Muid.
When some fluid is removed, the weight of the container and remaining fluid is 50%
of the original total weight. What fractional part of the liguid has been removed ?

1 1 2 3

(&) 3 & 3 () 3 () T

(D.M.R.C. 2003)
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180,

191.

184.

197.

188,

201.

202,

From a container having pure milk, 20% is replaced by water and the process is
repented thrice. At the end of the third operation, the milk is - (5.8.C. 2003)
{a) 405 pure {b) 50 pure {c} 51.2% pure (d} BEE% pure
An emply foel tank of a car was filled with A type petrol. When the tank was half-
empty, it was filled with B type petrol. Again when the tank was half-empty, it was
filled with A type petrol. When the tank was hall-empty again, it was filled with B
type petrol What iz the percentage of A type petrol at present in the tank ?
{a) 33.0% (b 37.5% el 40 (d) &0%

{Bunk P{. 2003)
A bag contsing 600 coins of 25 p denomination and 1200 enins of 50 p denomination,
If 13% of 25 p coins and 24% of 50 p coins are removed, the percentage of money
removed from the bag is nearly :

(a) 15.6% (b} 17 8% (¢ 21.6% (d} 30%

The price of rice is reduced by 2%. Hev: rany kilograms of rice can now be bought for
the money which was suffielent to buy 49 kg of riee carlier 7 (5.8.C. 2004)
(a) 48 kg (bl 48 kg 1l & kg (d) 51 kg

A reduction of 21% in the price of wheai enables a person to buy 10.5 kg maere for
Rs. 100. What iz the reduced price per kg 7

ta) Re 2 (b Rs. 226 (e) Hs 2.0 (d) Ra. 2.50
Due to an increase of 30% in the price of eges, 3 eges less are available for Rs. 7.80.
The present rate of eggs per dozen is : (N.LET. 1987)
(a) Rs. 8.64 (b} Rs. 5.88 (c) Rs. .36 (d) Ra. 10.40

The price of sugar having gone down by 10%, Sharad can buy 6.2 kg more for Re. 278,
The difference between the criginal and the reduced price (per kg) is
(2] Re. 0.50 (bl Re. 1 {e) Bs. 1.50 (dy K=, 4 050
In an examination, 34% of the students failed in Mathematics and 42% failed in
English. If 20% of the students failed in both the subjects, then the percentage of
students who passed in hoth the subjects was : (B.8.C. 2003)
{a) 44 (b 50 e 54 {d) 66
40% of the people read newspaper X, 50% read newspaper Y and 10% read both the
papers. What percentage of the people read neither newspaper 7
(=) 10% b 15% () 20% id) 25%
Out of 450 students of a school, 325 play fostball, 175 play cricket and 50 neither play
foothall nor cricket. How many stodente play both foothall and ericket 7
(a) 50 (b TS (e} 100 (dl 226

(8.5.C. 2004)
In a hotel, 80% had vegetarian lunch while 30% had non-vegetarian lunch and 15%
had both types of lunch. If 96 people were present, how many did not eat either type
of lunch ? 8.8.C. 2000)
(&) 20 (b 24 {¢h 26 id) 28
There are 600 boye in a hostel, Each plays either hockey or football or both. If T5%
play hockey and 45% play football, hew many play beth 7
(a) 48 (& GO (g A (d) 120
In a certain office, 72% of the workers prefer ten and 44% prefer coffee. I each of them
prefers tea or coffec and 40 like both, the total number of workers in the office is -
o) 200 (&) 240 {2 260 (d) 320

“In an examination, 65% students passed in Civies and 60% in History, 40% passed

in both of these subjects. If 90 students failed in History and Civics both, then what
is the total number of students ? (R.R.B. 2003)
{ad GO0 {1k BEO (e) TOO {d 750
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203. In an exemination, 35% candidates failed in one subject and 42% fmilod in another
subject while 15% failed in both the sulyects. 1T 2600 condidntes appeared of the
axamunation, how many passed in either subject but not in both 7

[a} 3E5 bl 1175 (&) 2125 (d) Mone of these
ANSWERS

Lidd 20 3.fa) 4.0 & 1a G T (e gk 2 i
0. el 1L (B0 12 dd) 18, (& 14 0ah 16 () 1B (B} 17, (&) 18 (d)
190 0 2lia) Y W0 24 (0 S5 (B 88 (B ET. (d
28 b B fa) 30.0b 3L (4 3Z (M 3R (M 34k 36 (& BB (8
37, od) 3B (d) 39 (&) 40, (B} 4L (W 42, (% 48 () 44 () 4B (D)
d6. (bl AT ia) 4B (g 49, (d) B0 {a) 51 {4 B2 (&) &3 by B4 (@)
BG6. (b BB.(hH) BT (d) B8 (al 59.(F &0.(M 6L (d &2 (& &3 (&
B4, (¢ 66. (¢ ©66. (b 67 (0 68.(d 69 (& T0.(% TL (B 72 (b
T3 (B Td(a) Te. (e TB.iwl Th {0 TB.{c) TO. (b 80 (o BL (a)
BL (b 83.0¢ B4.iml BE (0 BB (o BT . (a) B8 (a) 89 ( 90 (&
Bl (b 92 (d} B3.(b 94 (6 96. (¢ 98 (k) 97.(2) 8B (@ 89 {5
100, (e} 101, (d} 102, id) 103. (&) 104. (¢} 106, {a) 106. () 107. (&) 108. {d)
108. (b 110. (&} 111 (m) 112 (B0 113 (B 114 {d) 115 (&) 118 (& 117. (g
118, () 118, (d) 120 (& 121, i) 122 d¢) 123. (m) 124, (c) 125 (& 126 (&)
127. {c) 128, (d) 129, (b) 130, () 13L. i) 132 () 133, (g} 134. (d) 185. (2

136, (o) 127. {d) 138, (k) 139, (B 140. (&) 141 {a} 142 (&) 148 (& 144, (B
146, ico 146, {c) 147, (B) 148, (v 149 {(d) 150, & 151. (& 152 (dh 15%. (k)
154. id} 1B66. k) 166, (k) 16T, (b 158, (d) 189. (&) 160. () 16L (a) 182. i
163. ik 164, {ah 186, (d) 168, (¢} 167. {2 1&A. (kK 188, (& 170, {(dh 1T1. ich
172. (d) 173. (d) 174. (B) 176. (¢} 176. (b} 177. (b} 17B. i) 17B.idh 180. (&
1B1. (=} 152 (c) 1B3. {cd 1B4. (o) 1B5. (¢ 186, (&) 187. (a) 18B. (& 189, (o
180, (B 181, i) 182, {c) 183, (m) 194 (c} 195 (a) 196. (&) 197. (o 198, (o
199, (b 200. (d} 201 () 202 (o) 208, (b
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6. Let 88% of 370 + 24% of 210 - x = 118,

5. 63% of 32

_[s88 g - O, .
’“!r.'l.I—[-]--rarﬂ?ﬂj*i-jﬁrﬂﬂ]—ﬂﬂ—'lﬁ&ﬁﬂtﬁﬂ.dﬂ-LIE-:ITE-—l].E-EEH..
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7.

0.

1L

12.

13.

14

15.

16,

17T.

18.

L

4
l“m Eﬂ-h-—-:-c::ﬂ'! = 450+ 430 = BG0,
100 100

Civen cxprisgion =
Chven sXpression = [ . ® ?ED}-[E-H«GE{III = (33750 = 1200 = 217560,
100 1060 P,

Let 40% of 1640 + x = 35% of 380 + 150M% of 850
Then, x = 35% of 80+ 150% of 850 4 40% of 1640

a5 10

40 - 1343+ 1275 -6
[1M:{5ﬁ!ﬂ+ - EEI:I] [1m”m] (343 56)
= (1618 — 656) = 962

Let 218% of 1674 = x = 1800. Then, x -(%xlﬁ?dx

X
| = 20274

80% of 264 - .@-xml. 158.40; 10% of 44 = If_l.”—n-i] - 440
100 100

h

15% of 1056 = il 1} * WJEJ 158.40; 30% of 132 = [ET;H:] * 13‘.]] = 3960,

L 109
B0% of 264 = 15% of 1056.
252 280_ .1
Puss percenlage = [-T—DH mn] -i-i = mi'}.
Required percentage = {—-5— t 1'30 % = i,
2250 &
Required percentage = [ mul'; - %-sa 025%.
I )]

Bequired percentage = [ — ][H))I% = 10F%.

: " 198750 | 19875 1
Hegu ntage = % = —— IDU % = THE.

el e A [ 268 100 )

: [ 8 25 1
Required percentage = EI ID{I' % ?ﬁ'ﬂ = '.l!EEﬂ'?.
Total cost = Ra. Il!].[l:lﬂ+':‘|-ll'l-—‘2ﬁ of 1:x4000]
= Re (1000 + 0.98 x 4000) = Re. (1000 + 3920) = Hs. 4320.
Actual price = R (25 + 2.50) = Rs. 27.50. ;

250 100 1
o 100 |% = g - 0% = ¥%,
o [.z*.'r.m J T T

Quantity of pure acid = 20% of 8 litres = {.%:ﬂ] litres = 1.6 litres.

Rebatr = 5% of Hs. 'EEE[F-H:.[-I?-:HHEDJ-R:.E‘EB.

Sales tax = 10% of Rs. (6650 - 3%9) = Ra. {%162511 = Rs. 525.10.

Final smount = Rs. [B25]1 + 625100 = Rs. 6876.10.

a3
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384 (384 1, 425 (425 L
o [-—-umg:-]i ﬂ;‘ﬁ-,u—-—-[—-xlm]i BE%:
570 (570 8. 48D (480 8
[ﬁ ]ﬂ'ﬂ]*h-ﬂl—% Tﬁ -[ﬁ h]ﬂﬂ']* ?Eﬁ*.
E!hmthabul reentage
500 -
6 [ 95
ﬁiuf[ﬂﬁiﬂfﬂl.lﬂﬂﬂ}mﬂa.l—— E:-:].«E-!;l}]]—'-Itla.ﬂl.'!1
l1s 1 [0 1 i
0. % of - ) -
lﬁaﬂ'ﬂﬁa Rs. 10,000 = ml_mu e {3 “1m"1m” Rs. 5.

Clearly, 60% of 28% of 240 = fiﬂ_uEﬂmJ " [_EP-x o 8 ﬂqu)

100 100 100 " 100
.[ﬂr—“ .'l:ﬂ‘l'ﬂ] A% el 28% of 480,
100 100
25 85
B ool 20% = —— ¥ == = — = [,08%5.
. 100 10 15 ¢
. = TR (3/100)
Hmurdmw: — = |0 | = lu'u"i .
[E'I- J {Em’.’:ﬂﬂ.‘l J
a5 100
Let 95% of x = 4586, Then, — x r = 4598 or x = | 4598 x 100 | = 4840,
100 a5
Let x% of 360 = 129.6. Then, xsm_ﬁu”,[ﬁxlfﬂ "
100 10 350
Let x% of 532 + 30 = 309.5. T‘I'il:'u,[j—;—ﬂkm]zﬂ?ﬂ.ﬂurr-[%x.$J=3&
Let % of 3175 = 48% of 1500 + 35% of 1700,
45 a5
Z w175 = |2 1800+ = %1700 ] - 878 X
Thon, IDI]I ['lﬂﬂx -I-Im '?l]L‘r) + 585 = 1270
=t :-[M]-—lﬂ.
3175

Let 65% of x = 20% of 42250,

Then, = 20 4235) 545 mn]
.EH:I(IMH ]l:l_,l I [Iu % 130,
Lot the total =nle be R x
25 1 ) 125 125 100 % 10
, BE% of x = e _ _ 135 198 I
Then, 25 x lzﬁﬂﬁ[lnnrtmx:.-ll o [lﬂx = } 500,
Lat the worth of the house be s, x
Then, Eiaf.r-ﬂ'.ﬂ.tlﬂ b (Eh:..!'-.;;[}.,gm - IE[MEIW:{T]‘E
7 77100 TR T b e
Let 15% of ¥% of 582 = 17.46.
1746 1746 Imxlm]
1":"':' 1'5"“!“2_ 1 iy [lm 16=582 | - O
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36
a7.

a8.

40,

1l.

42

43,

44,

45.

4,

47.

"

Let 784 + 2 = 78% of 500. %m.:z[%xﬁm - 784 = (300 - 28] - JE2
A

Let the number be x

. (linxlﬂ] - 00,

'ﬂm.mufz-liﬂwtﬁu-xrj-lﬁ]-:- i

120% of = -{Erm]-m.
Y]
Let the number be x

Then, 35% of x = 176 = [.]%Elr}'"lm - 1_[175:&11:"]

):m
35
Now, let ¥% of 175 = 500. '

Thm[l—:"'ﬁmﬂﬁ]-ﬂﬂﬂ - Jr:[mmlw]tnum_ $

175 7 o

2 525

Let the number be x Then, E af % of % of =15 = :-[15:;—::3:-:%]-——.

2

0% of 222 . [E:EJ - 106
2 |10 2

Bl0 x5

3 = Bo0.

Let the number be x ﬁm,:—%x—ﬁm & %r-ﬁlﬂ = .t-[

s PR of 850 = BS.
Let the number be x Then,

16% of 40 — 25% of x = 2 = fu—in[%xm]-a o Zat @ z=16

L&t the number be x Then, & — 405 of x = 30

P} t——-ﬂ:nﬁﬂ =5 :-—%:-Eﬂ = %-Eﬂ- = ='[3ﬂ15]_ﬁ1

100 3
Let the number be £ Then, 50% of £ = 35% of x = 12
s pri 15 12 = 100
= ———ge=—x = 12 — = 12 - | ————— | = B0
100 100 g b i g [ 15 J
Let the number be x Then, x — 16% of x = 42
16 4 21 4% = 5
- I ]mx 42 = =z ﬂ.:::-l.z = EE‘ 42 X ( a1

Clearly, the numbers which have 1 or © in the unit's digit, have squares that end @
the digit 1. Such numbers from 1 to 70 are 1, 8, 11, 19, 21, 29, 31, 38, 41, 48, 51, &

61, &9,
Numbser of such numbers = 14,

Required percentage -1%31@0]% = D%

%mn: 56 and ?u‘l‘lﬂ: 80,

Required percentage = Lm;uﬁﬁ = Iﬂl}]‘i - [%x 101]]5- = 30%.

y= 125 + 10% of 125 = 125 + 1250 = 137.50.
x = 187.60 — 10% of 137.50 = 137.50 - 13.75 = 123.75.

k]
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48, Let the number be x Then,
R ol x+ 7o mx e :—3'5-:-75 = .t-rﬂ.::"i"."l o = =T b 2= 300,
1040 4 4
489, Let the number bo x

m:-a&-%; - :-%;-35 o ¥ w P10 T Pt - i'ﬁ-;—m.
BO. Let the number be 100 and required multiplier be y.
Then, 100y = 1297 or y = 2220 _ 1997
104
T
61. Let the numbers be x and . Then, BS% of x = B5% of y & HIEE?-I_E‘}"
ad
Now, x+ y= 2490 = E;q-mqﬂv-mm - y = M]‘WTE
13 13 30
One number = y = 1079, other number = Ey - 1411,
B2. Let the aumbers be x and v Then,
28 28 ] 2 a ]
= — —_— - O — £ = | — ]m*-im
X+ y HI o JI.EE T ey EE,J: ¥ = [25:!: ..
53. Let the numbers be xand ¥
5 o ¥y x E 4 B
Then = 5% of = = i i F=1 —_ - -
X e e A G W e JEBRNE TR o

b4. Lot the larger number be x
M.x-m-%: = 1-%:-'::0 E= %ruiﬁﬂ i :-[2[]:{%}-2&_

56. Lot the numbers be x and y Th«m.%-% = r =3y

Required percontage = [%umn}i = [%"ulw]n- = D005

56. Let one number = x Then, other number = 804 of = = "E,

I-]
4 ] 16 g i 41 i
"[It*['-E—IJ =B868 e x 1—EI = 164 = EEI —lﬁq

J

= E:[lﬁf‘:zﬁ1-mﬂ = X = 100,
\ 4

Eo, the numbers are 10 and B,

57. 5% of A+4% of B -g{ﬁnfﬁ.qnﬂli-nfm

5 s 2f 6 g2
— At % ar
* 0% 100 "3[1m‘d‘+|m J
1 1 1 4 Fid o 1 1
S e T e Y et L [
= WAt wf [:au aﬁJ [ﬂ .;.aJ
1 1 A 100 4
e = — B _ S ] —
" TAT B W o sl
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58. Total number of votes polled = (1136 + 7636 + 11628) = 20400.
3 11628

Kequired percentage = [mmn

59, Increase in 10 years = (262500 — 176000) = 87500

Inerease® = [lﬂ'i'aﬂ:n xlﬂﬂ']"'q* = G0%,

% !I'Dﬁ]i- = 47T%,

E]q. = 5%

ired 7
Reguired average [lﬂ

-
B80. Lot the number be x Then, errer = % == o —

16 3 1
Error® = | — = — = 100 % = 64%.
[15 e W
61. Let the original value of the tempo be He = Then,
laa:LuirxlE]ﬂ
16 160 5

F'Hlna-tllilxlﬂﬂxﬁ
\ 13x4
B2. Lat the total production be x lakh tons, Then, 15% of x = 10% of x = (40 - 30) lakh tons

|.:srsnr‘*§nf:=-9m i

]#ET-EW.

= 5% of x = 10 Iakh tons :=[i"5‘“]-zmlﬂhm.

63. Let the number of candidates appeared from cach stote be x
Then, Tk of x - 6% of x=80 = TRofx=80 « x=80x100= B}Uﬂ

64. Amount paid to car owner = 80% of B6% of Rs. 3.25,000

W A5
- JZE000 Ra. 248 620,
“"‘[mu 00 ]' a

5 Reguired difference = Rs. (325000 - 248625) = Re. 76,375.

85. Let the amount of taxable purchases be Hs. x
30 mn] =
san W = 5

G

Cost of tax free items = Rs. |25 — (5 + 030)] = Re. 18.70.
B8, MNumber of runs made by running = 110 = {3 x 4 + & x &) = 50,

a0
Th IE%H R e =S
- *= 100

Wmmm:{ﬁﬂxlm % - 45].“;-51
67. Let the marked price be x

1040
Then, x = 5% of x = 9595 o 05% of 1= 9595 es ;.{L’i’!i: ]-ll]lIIr.
6B. Suppose originally he had x apples.
Then, (100 - 40)% of ¥ = 420 & %x:-lﬂﬂ - ::[““;31 ]:m

69, Let the moanthly income bo Bs x
Then, [IW—EEE]* of x = 1200 = Eﬁlinfr-lﬂﬂﬂ

- 100 1 1200 = - 1200x3 = 3600.
3 100

Meonthly expenses = Rs. (3600 = 1200) = Rs. 2400,
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70. Let the numbar of students appeared be x

Then, 85% of ¥ = 456 & —Cex = 455 ‘o :-[Eﬂ}=?m
\ 100 5
71. Percentage of uncertain individuals = (100 — (20 + G0Ji% = 20%.
B of x=20% of = T30 = 40% of x = 790
40 TE0 10O
EI‘TM = II[T]=IEM
TZ. Let the mavimum marks be x

lﬂﬁ:lﬂﬂ}. 500
a3 '

Then, 3% of = 125 +40 = %:;IEE = :l[

T8. Lat the total number of votes polled be =
Then, votes polled by other candidate = (100 = 84)% of x = 16% of x
476 100

BA% of =160 of £ = 470 = E,'u:--'l'll'E = .1:-[
100 .

)
T4. Number of valid votes = B0% of 7500 = BOOO.
f
Valid votza pelled by other ﬂndihte=45ﬁnfﬂﬂ}ﬂrL'%HEM]-2‘?ﬂﬂ.

T Let the number of valid votez ba x
Then, 62% of x - 48% of x= 88 e 4% of x = 08

= —1-.1-95 = or = x5 = 2450,
104

. wmﬂmﬂﬁ={m+ﬁﬂ}zﬂ1&
TE. Let the total number of voters be x Then, Votes polled = 304 of x
Valid votes = 90% of (0% of x).
BA% of [90% of [90% of x| ~ 48% of [90°% of (50% of x)] = 1620
e B% of [90M% of (90% of X = 1620

50 ﬂug:lm = x:[lmﬂlmxlwnm

100 100 100 8= 90 80
T7. Let the number of persons aligible to vote be x Then,
Number of eligible persens between 18 and 21 - 8% of x
Hmnbarﬂwﬂm-mmuﬂdﬂl.wﬁuwﬁdaﬂ-E%ﬂffﬂinF:}

j;umn.

=[Ex—u—-wx}=ir
100 100 1000
: (88 1 1
Bequired percentage = [1mn r;rluu'jﬁ BE%.
T8. Let the number of persons eligible to vote be x
Then, voters who voted for A = 30% of x
Voters who voted for B = 80% of (70% of xL
=[50, 70 =
_[lmxlmrlm]ﬁﬂ": 43% of =x.
Voters who did not vote = [100 - (30 + 42Z)|% of r = 28% of =
A of x - 280 of r= 1200 < 2% of x= 1200 == X [&;“]ﬂ]lm



Percentage

Ta.

Al

8T.

Let the sum paid to Y per week be Rs. z Then, 2 + 120% of 2 = 550
140 11 [55&#5}
e ¥ m B & —z =060 = ZF = - =
T 5 11

Total sales tax paid = 7% of Rs. 400 + 9% of Hs. 6400
_rr.s[ m+_‘?ﬁxmm] Rs. (28 + 576) = R 604,

100
Total cost of the items = Rs. (400 + G400) = Rs. 6800.
. _ | 54 _ 15
Required percentage [erlm] —3”%-

Total marks secured = (909 of 100 + 680% of 150 + 54% of 200}

a0 B0 54
2% 100 + — x 150 + == x 200 | = (90 + 90 + 108) = 288.
L]ﬂﬂ 100 10D ]
Total maximum marks = (100 + 150 + 200) = 450.
A.ggregatu porcentage = [%&hlfﬂ]% = Gd%,

Total number of students = 1100 + 700 = 180K,
Mumber of students passed = (423% of 1100+ 30% gf TW} = (462 + 210} = 672
Muwnber of filumes = 1500 = 6T2 « 1128,

(1128

2 -
Percentage fnilure = | ——
i 18

H1M1‘Eﬂ—i.
J 3

Let the number of students be x Then,

Mumber of students of or above 8 years = (100 — 20)% of x = B0% of x.
Bﬂ':iuf:ziﬂ-i»;lulﬂ o SLxe80 e x=100

Let the total number of applicants be x Number of eligible candidates = 96% of x.

Eligible candidates of other categoriee ~ 15% of (95% of )

- E!.EE—!.:J.E..I
100 100 T
EI = 48275 o I—{&)aﬂm.
400 a7
Let their marks be (x + 9) and x

Then, x+9 = %:14-5;:} e Mix+ e ld(2x+9) = Ax=58F = x=33,

So, their marks are 42 and 33.

T By oy KDY o *r..lf'i:; e G,
100 10

- el 8
Required porcentage = [; ulL‘l{}J'ﬁ = [};—I lﬂﬂ]% - lllél.

ﬁﬂyi[ﬁk;]n[%!i):ﬁﬂn

R afla=04 = %uub.

b 20 1 4
e — WM & ——p = 4% af a.
b%ufiﬂ'r[i !m] [1 u:-tmu J 1 o a
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9 ——xy= 1msl:r = xy = G4x100 = 6400,

Clearly, ¥% of = = 2 (x% of g S =
parly, ¥ of z =2 n_pﬂﬂim lm:&:.h'.

)

90.
8, phofl p=36 « {%xp].u.’ﬁ = p% = 3600 o P = 80,
a2

. =% of A & _ 100
=% Pk o Py i "
Required percentage = (5 x lEIII‘JJEﬁ [E * 100 I*a 100° 1‘?%.
s ¥ Frvvuohe vy
H.::ME-afJnxzﬂ;nE:Eu Ao 3
100 £ 4 2x B8
Required ptrumta#-[% Hlm]%-[gxlﬂn]ﬁ--ﬁiﬂlm
H.lm:-ﬁufr-n_‘l‘hm,ﬂﬁufre.u F= 11:5:—1'-;;1;;1:“5;_
T
B5. % of yryRol rw - yo 2 20
it “mn"' mn’ Wa roa T
H-A-Iﬁ-ﬂ"!-nfﬂ,- A-%HJ%IEHE+.I'E+I
- B0 B 3
B .2 A+B B
Required percentage - wﬁﬁrmﬂ%ﬂ—xlﬂﬂ]‘l-lﬂﬁ
Wﬂﬂftlﬂﬂf;fﬂr—:n?jﬁly-]-—y
Eﬂ‘l-uf:-il}'inf—lryalﬂﬁufj.
20 4l 1 i
R — it L = = 4
lmA B d E {:':&E.P. = B and B G o A 5B=.miH—2f_':
25
A== = =,
=l Ef'ﬂl'lﬂh- 3":
&0 [ 25 5 B}« 15
60% of (A+D) = ~o o g B o200
+ L'ﬂ-[ﬂ 2I::II 00 I'ﬂ'ﬂc 0% of C
% of a= Ky s 8 2]
8 Fola=yhold = 6% gt = ® [PJG_
z'.'Eﬁl'h={ﬁnf£1ia-!r--£-—]u=['3\‘-¥ﬂfﬂ-
¥ \ ¥ % 100 ¥)

100 10
101. Let the first man's output be x

1040, ﬂﬂ:u{—j:-H.vJ=[—1:1lﬁ¢fx = A=]

Thea, &3%% of x=50% of 1500 « [129:{1-;3“;'—.?51: o 2= T50 % 3 - 2250
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Questicns 102-106
Let the number of magazine-readers in ety P be x
Then, (100 - 75% of ¥ = 6000 %Irm ) I_[mnglm1' _

102,
103.

104
105.
106,

1T,

108,

109,

110.

111

112

113.

Mumber of readers in P, reading only one magazine a week = (24000 = 6000) = 18000,
Similarly, we can find these values in other cases. Thus, we have the following table :

City Mo. of magazine-readers Mo, of readers reading only
one magazine a week
P 24000 18000
Q LT AnD
R | TS0 4500
& G000 a300
| T Ss00 1400

The lowest number of magazine-readers is 5600 and this is in the case of ¢ty T

The highest number of magazing-readers who read only cne magazine a week is 15000
and this is in the case of ity B

The highest number of magazine-readers is 24000,

MNumber of magazine-readers in city § reading ooly one magazine a week = 14000,
Total number of magnzine-readers reading only one Magazine, & week

= [1ROO0 + 14000 + 4500 + 3300 + 14000 = 41200.

Saving = [100 — (40 + 20 + 10 + 100% = 20%. Let the monthly salary be Re. x

20
Then, 20% of x = 1500 = ibﬁ"lm w3 o= 1500 x5 = T500.

Let the total amount be Ha. x Then, (100 — 206% of x = 35000 + 40000

= 5'\..
w 80% of x « T5000 <o %x-?ﬁﬂm - ;-fﬂj-ﬂﬁ‘lﬁ&

%

Saving = 50% of (100 - 400% of (100 - 30 of Rs 18,400

o0 e T i
.Rs.[lwxﬁx.‘ﬁxmm} Hs. 3864,

Height olimbed in second hour = 12%% of [IW—EE%]E of 192 m

::nn:uj.a-uasr-l—x]ﬁ]m-ﬂm.
L2 100 2 100

Lot the wotal income be x
Then, income left = (100 - 80)% of |100= (35 + 200% of x = 20% of 40% of x
20 44
B T e— =
[mn Imxlmjlﬁnfx 8% of x,
Lat the total salary be Rz x
Then, (100 = 1018 of (100 - 200% of (100 - 200% of (100 — 10¥% of x = 155562
fo0 80 - 80 ﬂn ¥4 [ 1BA32 % 10000
|06 * 708 L300 Sapginr) = 10MLS £8 omue

Let the amountl with Aman be Bz x

L)

J = 30000

Then, amount received by Sahil = } af 40% of Re. ¥ = 10% of Re x



114.

115,

116.

117.
118.

121

Quantitative Aptitude
4 10% of = 6004200 < —x = B0 = x = B00X10 - 8000

Let the monthly salary of Sameer be Ha. x
Then, (100 = (25 + 20)]% of [100 - (24 + 15)/% of x= 10736 «= B&% ol 61% of r = 10736

55 i1 10736 = 100 = 100
—_—— 107345 =
= 100 lm:h‘.:ﬁ: - xl:( = % 61 ] S200H0.

Let the total number of children be x
Then, = (20% of ) = 405 = ;;1:-4{!5 = 2 = 2025 & x - 45

2. Number of sweets received by each child = 20% of 45 = 8,
We bave : x + x% of 150 = 150

X B 150 % ¢
= e i ) = 150 & =1 = LED rw = B0
T 5 " Ml ]
T TP Yy . IRy SRS g e
3 w0 "2

Lot A's salary = Rs, x Then, B's salary = Rs (2000 — x).

(100 - 95M% of A = (100 - 85)% of B < %xn%imﬂ-—:} -2 = 1500

\ .
Lot B + M+ D =x Then, B = 25% of x - 20 = [%’_HJ' [-:_-m] and D =50

¢
E-M+H+5ﬂ=x or M = IE—S‘]].
4 4 i
30, marks in Maths cannot be determined.
Let the total sales be Rs. x Thcn,ﬁ-%%a-f.t+%‘l of {x = 10000) = 1990

= —x--—r:+1:-:1—1-.-.~t{:—1ﬂ}l:ll.'l'!=19£'ﬂ

& 12x = 10000 = 366000 e 12Zr= 408000 <> x = 34000,

Let the marks required be x Then, (62 + 35 + x) = 35% of (150 + 150 + 180)
= !l'Tir:l%!dM &= x o= 168-9T7 = 71,

Let the number of students in the class be 100 and let the required average be x
Tharn, {10 = 95) + (20 = 90) + (70 = x} = (100 = 80)

=3 T0x = BODD — (950 = 1800) - 5250 &= =z = T5.

Let total marks = x Then, (30% of X + 15 = (40% of x) — 35

a0 a0 1
[y — I — - —_— = "D - "
3 x+ 15 - x=36 = G =0 - x 504)

r

So, passing marks = (30% of 500) + 15 = %xﬁm‘nls] = 165.

Pasgs percentage = [% HEW}} = A%
Let the price of a chair be Rs. x. Then, price of a table = Hs. (x + 400)
So, 6 (x + 400) + 6x = 4800 e 12xr= 2400 < x= 200

o Price of a table = Rs. 600: Price of a chair = Ra. 200.

Required percentage = [E . J.DEI1‘! = EEE'E-.
-1 ¥, 3
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126. Let the total number of houses be x Then,
MNumber of houses having ene fomale only = (100 - 25Y% of (100 - 40/ of x

126, lahﬂ-thlﬂppuhﬁmhnznm

i) 40 2
C— = a- af = —% =2 =¥
Poor population T i Hiliterate populati 100 5
I 40 ¥
Miterate rAch = 105 of (100 =801% of 2 = | ——H—xE| = —,
o i (ma 100 J 26
Bx
Ilkiterate poor = ] —.
[ 25 25
Required percentage = (gxaixlmﬁli = BO%.

127. Number of males = 60% of 1000 = 600, Number of females = (1000 - 600) = 400
Number of literates = 26% of 1000 = 250,
Number of literate malea = 20% of 600 = 120,
Wumber of literate females = (260 = 1200 = 130,

. 3
Required percentage = %x ]MJ'I = 32.5%.
3 i

1 1
128. Let the total number of candidates be x Then, I'lﬂﬂ—EEE]‘i- of E'J'E'l af £ = 342

T4 1 y |- J | B

342 = B4
= B — K —— NI = T = EHEH = .1:==[ -

]az-m.

Wumber of boys failed = (100 - T51% of [1:1-::-3?%]% of 2432

= 1251
= = - e
00 2 1

mn}-m-
199, Let tokal populstién = % Then, number of males -*gx.

mm&m:ama%;-[ﬂxi;,FE

Married females = ; Hmhqrufﬁ:malﬂ-i:r—gx]-%.

dx :.f] Sx

Unmarried females = [g—E r-ﬁ.

fBe 1 7
Hﬂq"j]-j m‘t-v = | — ol %% = 27="5,
L‘LEIJ:J“ ] B
- 35z
130, Migrants = 35% of TZB400 = [ﬁj" '.rzaum] = 254040

k.

Local population = (728400 = 254540} = 473460



131

138.

137.

Quantitative Aplitude

Rural population = 20% of 473460 = Q4502
Urban population = (254540 - H4652) = 160248
Female population = 48% of 473460 + 30% of 24692 + 40% of 160245

48 30 410
— i ATHED &+ — = G4682 + — = 160248
[ 100 100 100 ]

= ZETEZ60.6 + 28407 6 + G409 2 = ASGAGD,
Let the number of boye and girls be 3x and 2x respectively. Then,

] ] [“i".. [12: xS
Mo of gtudents who are not adulis = | — = | s
; il [lmxd.t ]mxﬂr] 2}, =

L 3 i I{Iﬂl]lf.l:n = T8,

ired .
Required percentage - [m = ]

E‘uppnu monthly rent = Bs. x Then, 12 —%ﬂh of 12z - 1660 = 10% of 500000
4 25 ] 2ix
= 12— — w12 - 1660 = GO0D0 = ~— =51660 = x= EIEEDH— = 4920,
200 2 21
BT
Lntmﬂdahq:.;.m-i-m
After paying 20% of the debt, he is left with 80% of the debt plus Rs. 42.
B7 ar &0
B0% of x4+ 42 = — —x-—x = 4! =
x + 42 lm: = II'.H'II Il}l]x 42 = x = BOD.

Bo, debl = Rs, 600 and assets = Ra [%xam} Re. 522,

Let the original price be Rs. 100

New final price = 120% of (75% of Hs. 100) = Hs. [”“ L mn) Rs. 90.
100 IEH]

& Decrease = 10%.

Let the original price be Hs, 100

New final price = 85% of (115% of Rs. 100) - Rs. [% :;g H}n]rﬂu. o 75,

o Decrease = (100 — 97.751% = 2.25%
Lt the original number be x
110 80 ] 95
. rl

Final number obtained = 110% of (80% of x1 = [-- Wi -
100 100 LT

g9 i
x IEH.'IK 10 &= ﬁ:—lﬂ &= r=10x100 = L0,

Let the original price be Rs, x
A —re d (10 +Moefxr=1

Elﬂﬂ—r}“ll_!.l_ﬂﬂ+r}x,_l T | 1000 = 100 _ __loooo _

100 100 (100 - ri(100+ ¥) (10000 - F%)
Let original income = [s. 100. Then, saving = Re. 10 and expenditure = Hs, 90,
Kew income = Rs. 120, New saving = Rs, 10
MNew expenditore = R (120 = 100 = RHs, 110,
Increase in expenditure = Rs. (110 = 900 = Re 20,

20 -
Inc %= | —x100% = 22=%,
TCasE [E{Ix J ﬂﬂ%




FPercentage

139,

140.

141.

143,

143.

144,

id5.

146,

Lt Madan's income be Hs, x

Ox
Then, Mel incpme = (100 = 10Y% of Ra. x = S0% of Hﬂ-l"ﬁﬂ-ﬁ-
: 85 110 187
] i = B5% of 1107 of Rs. Hs.[—:—x:}-rﬁ:.—;
MNew met income = BS X = | 700 * 100 200
187 9r = (Eﬁﬂwﬂm]
— T . =350 s — = 350 o X = | e— = TOOKN
G000 10 im0 1; 7
Let his investment i the year 2000 be Es. x
120
M,imin?ﬂm=ﬂﬂ.lriiﬂiﬂ-ﬂ=ﬂhﬁ=-
Income in 2001 = Hs E{:-m;_
10e
:ig;.%u-amm o 120 = 126 (x - 5000) = fr = BI0000 = x = 105000,

Let orgmal salary = Bs. 100, New zalary = Ra. 120,

"]
Decrease on 120 = 20, Decease on 100 = [%xlm]ﬁ = 15—3!-_
Lat eriginal number = 100,

w——x 10| = 144,

- % ool 100 = | —
MNew number = 1206 of 120% o [l'ﬂﬂ =

120 120 ]

Decrease on 144 = 44, Deereaze on 100 = {]—':"-nlm]* = .'I-I]gi--
Let original price per TV. = Rs. 100 and original sale = 100 T.V.s.
Then, tolal revenue = Ks (100 = 1007 = Hs. 10,0040

Mew revenue = Ba. (76 = 1201 = Hs, S000.

1000
L]
Let ariginal consumption = 100 units and original price = Rs. 100 per unit
Original expenditure = R, (100 x 100) = Rs. 10000

Mew expenditure = Rs. (120 x B0} = Hs. 9600

Decrepse in revenue = [ = I{FEI]‘I- = 105,

Deerense in expenditure = [lm N]ﬂﬁ]‘i = 4%,

Lot the tatal original sale be Rs. 100. Then, original number of visitors = 104.

' 1380
Mew number of visters = o -

[ncrease® = 6%,
Suppose the business value changes from x to

gt Bl e
4'I-ul'.t-5‘lﬁnfj-=-ﬁ: Tﬁy—r.}-_ﬁ:
Change in h-uadnun-'r;: '11] i
) 1. (ETF g

R 1z 7
I = — T = 2%,
Percentage slurmp LE‘EIHIWJ



147,

148,

149,

151,

157.

Cuantitativa Aplituds

: : 140% of = 140x 7x
letthenrﬂmllﬁ'nmnhez.'lhen.newfdlm - i
y T = 180% of ¥ 180y 9y

New fraction [—xl] ¥
Original fraction |9y =) 9
Decrense i lon = 1m1|=.¢.~ - [ 30 - 232
in consumplion [llm RJE J, [mxlmJﬁ EEI-E‘!!.~
R 40

(100 = R}
Let original eonsumption be 1 unit costing Rz, 100,

New coat = Re. 125, New consumption = [I—Esxlﬂﬂj ; unit.
oJ

Increase in consumption = [ mﬂ]'lv lhxlmm-—i = 19.04% =~ 19%

Reduetion in conmamption [:'E} 1 :
Original - -—=T-E.u..1.ﬁ-.
Let original consumption = 100 kg and new consumption = x kg
So, 100 x 6= xx 7.50 = x= 80 kg
Let expenditures on food and other items be Rs. 2x and Rs. 5x
Then, 2x + Bx = 2580 or x = 370
So, expenditure on food = Hs. (2 x 370) = Ra. T40.
Expenditure on other items = Rs, (5 = 3700 = Rs. 1850,
New expenditure = 110% of Rs. 740 + 115% of Ra. 1850
'R“(:£ X740+ 22 mpm’H Rs. (614 + 212750) = Rs. 294150,
Desired increase = Rs, (2941.50 - 35“]:]1: A51.50,
"“- 41 41

3

) 5
Population after 3 = B40fi x| 1
o 3"E[ " 2x100

2
Coat after 2 = Ra |20 —"_] - [ e E]: :
j"lil:ll E ;-:{11- T ] Hs. :E'[I':':35 x 35 R=. 2333,

Present population = mmuux[ui][n_"’_]{hi]

100 2w 10 1040
Il.'IE 41 11
| — =
[Emu:r . -m mJ 177366,

lelmlhﬁmlﬂiﬁmx[l—i]i Eﬂﬁmumum = 5TE00
100 | 25 E] '

Lat the present value be Rs. 100.

:
f 3

Vaks sfter 3 yoars = m{m::,p%) ] h m, m:a“z%x‘;} Re. 51.20,
L

Reduction in value = (100 - 51.200% - 48 8%.
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3891 . ||
168. Population in 1“:1—-5—4 [IE&EIE —_— ?'ixﬂ]-1m

5 21 21 21
1 =—
‘{ ‘.I[I]]
__ET48
168. Purchase price = Rs. (l lﬂ]ﬂ HRE.{E?-I-H&:}EHI’ glJ=It:;.‘].:!£l:!‘.l.
L8]

180. Number of ticketless travallees in April
5 B 10 19 B
'm“[“ﬁl[l'ﬁ}[l'ﬁﬁ ={mm;ﬁxﬁxﬁ}-mx_
161. Number of bushes m the beginning
o 26730
E 1t 8
[hlw][“mi'nj[l mn]

182. Leb the production in 19898 be 100 units. Then,

25 ]
(zs?"m x = '-g‘]

R IE'I ll]‘| 15
Froducktion 2 1+ —= - i ara
in 2002 = ll.'l'ﬂx[ 100, [ lﬂﬂ,[] mn]

lmn Ex Exixﬁ] = 136 K&

Increase in produclion = (136.88 - 100¥e = 36.56% = 3T%.
Ry
168, 10 erores x [1 + ----j = 13.31 crores.

[ R-} 13.31 crores 1331 1331 [11
1+ = > = | —

100 | 10 crores 0 1000 |10
R 11 R 1 B 1
| JE St (A = . = R = 10
Hﬂ'( mn] w { mu;l { 0 00 10

n
164. Lot the reguired time be n years Then, TEEM;[]*%] —lﬂﬂlmx[l-%]

() (3] -, = (5] - 55T = ==

188. Let original population = 100

3

3]

e _;_] - 100 207 , 207
100

o e B
200 200

= 110.87.

218

Population after 3 years = 100 x
Increase = (110.87 = 100°% = 10.87% = 10.5%

166. Net growth on 1000 = (32 = 11} = 21 Met growth en 100 = [S:nﬂm]i-i‘.[i.

167. Let the number of males be x Then, number of females = (5000 — .
10% of x + 15% of (BOOD — x) = (5800 — HOOD)

'Iﬂ E

1l.'H} 100

= Ay = 15000 e x = 30000

(5000 - x) = 600 o 10x 4 75000 = 15 = 60000
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126 100 4

- ' - e— - — - | - =
168, A = 128% ol B = A 1MB=H IEEﬁ I-. Il{ﬂ]‘hﬂl’.ﬁ. B0 afl A,

168, B's salary is less than A's by ..._..._;.cuﬂ]q._._,_ lmm 3_'3]_1;._

o0 +50 | 3 s

g 0 1. 200 2
: e || - -
170, Excess of B's height over A’z [”m_m:lxlﬂﬂji- 3 T ma‘h_

171. p = 6q. So, g is less than p by Bq.
H-m.limdpu-umtage [—-xlm} -—xlﬂﬂ]ﬂ E&Ei
172, Lot third number be x
| Th-m.ﬁm:;w:?&luf.:--':-rg4mndnumhernﬂ-3‘l~nf:r%.
{ Tx E'] Tz

Ihifcrence =
1!.3I 1000 lﬂﬂ

Required peroentage = [;:D ;L} uim]':. = 10%.

173. Let third number be x
Then, first number = 112%% of &= Eg',li" second number = 125% of x = 4EI'

. X
Required percontags = [% 5 &xitﬂ.‘l}l'ﬁ = PO,

iy 1
174. .|'|.=4Mnl’E=dl]‘I:~nd’[Mnfl_:]-l.“.}xg_s..klm"lufﬂ-mﬁunlﬂ.
100 100 ]
5 15 10 20
176. — A m — Sp L - = 20 = 2% 2000 = 4000
100 lmﬂnnﬂ mnﬂ lm(':-A JBand B = 3 = 2x

oo B oe 3 ox 400 = 1200,

Hence, A + B 4 C = (12000 + 4000 + 2000) = LROOO.

14 140/ &0 140 B0 ]

— A = iid — % —— = 1M | af ™

100 mu[m ] [m-u "0 et i

17T7. Let Deepak’s monthly income = Re 100, Then, Raunaq's monthly income = Hg, 8,

176. P =

Amit's monthly income = Ra [ix xm| = Rs 104,
|
If difference between Amith and Deepuk's income is Rs. 4, then Raunaq's income
= Rs. 80,
If difference i Rs. 500, Raunag's income = Hs. [:? Jrﬂl}ﬂ] = Rs. 16000,

ﬂﬂ 85
s = m— = — c W m—
178. A l!- B 1 G and - D.

B-— C-— [].-._._
A E!m ”C

L]
b 5 kL) S0
B=—=x5T6 = O =% B0 = 400 [ w — x - .
r 576 = 480; E:-: 7 400 T

r

8000 L 100 |% = 58.82%.

Sa, required percentage = l TRl
s
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17,

181.

182.

183.

185.

186.

187.

Let number of students appeared from =choal A = 100
Then, number of students qualified from achool A = 70
Number of students appeared from school B = 1240,

b
Mumber of stodeuts qualified fen school B. = [% 70 - 105.

[ 105 ) A
Requiredper:entage:l-léﬁxhﬂl |% = R7.5%.
L 4
Quantity of pulp in 100 kg of fresh fruits = (100 - 68)1% of 100 kg = 32 kg
Let the quantity of dry fruit obtained be r kg,
Then, (100 - 20/% of x = 32 o= %:—az o ::Liﬂ_;.%ﬂ)-m

Let the reduced weight be x kg,
Clearly, the quantity of pulp remaing the same in both the cases
S0, (100 - 96)% of 20 kg = (100 = 95)% of x kg

- A% of 20 kg=56%af xkg & :t-'(:h'ﬂﬂl}kg—lﬁhr.
o |

14
Guantity of almhol in 400 ml solution = I'l_lfli] x 4”43] ml = 60 ml.

Quantity of water = (400 - 60} ml - H0 ml
Let x ml of aleohol be added.

Then ot % L 32 G000+ 100x = 12800 + 32x < G8x= BBO0 & x = 100,
400+ x 1DD
Quantity of water in 10 litres = 5% of 10 litrez = 0.5 litres.
0.5 r ]
Let x litres of pure milk be added. T‘hnn.mll e ™ Ixad = =15

i b
Quantity of aleshol in D m) lotion = I.%”g; ml = 4.6 ml.

Lt the watler o be added be 1 mil

:
(A8 3 7043w - 450 o x =6 ml
B+x 100

. 40 _

New percentage = [lf-:-t lﬂ'ﬂ'l*} -

! 2
Regquired percentage = 0%k 1 430% of 4 ll:I'lZl11 r-—" IMJ%--M-*}..
10+ 4 | 14 =
: - ' . 40 x
Let the original quantity be xkg. Yanaspati ghee in x kg = [.6.. )
I‘. f
&
: = - LIS R e B 0

¥

—_— O i m
x+ 10 1600 Bx = B0 ]



248

188,

188,

181,

182,

Cuantitative Apititude

Let the eriginal total weight be x. Weight of container = %r - =

I

Oviginal weight of Huid -[ T] - %.

' o x
New weight of (container + ﬂujd]r%.t - %. New weight of ﬂm{lv—[&-—— E] = i.

15-5)
Required fraction = ~—b 47 _

i LB
i & 3
4

B3|

Let total quantity of original milk = 1000 gm.

Milk after first operation = 80% of 1000 = 800 gm.

Milk after secomd operation = 80% of 800 = 640 gm.

Milk after third operation = 80% of 640 = 512 gm.
Strength of final mixture = 51.2%.

Let the capacity of the tank be 100 litres. Then,

Initially : A type potrol = 1040 litres.

After first operation :

A type pﬂml—[%}: 50 litres; B type petrol = 50 litros.

After second operation :

80 ' 50 .
A type petrol = ?i-aﬂll-'i'ﬁhtru:l]typ:pﬂml- 3 = 25 litres.
After third operation :

rTE 7 2% .
atmﬂHH:LE- = 375 litres: B type petrol = ?+5D = BL5 litres,

Required pereentage = 37.5%.

Total meney = Rs. [ 600 25 4 n:uu::ﬂ] = Ra. T50.
1 100 P

25 paise moins removed = [ig—: BIH:III| = T
1My J
A . 24 )
i paise saing removed :[;Eﬁxuml = I8E

25 50
Ma a Ba. | T2 % = —_— = . .
ney removed [ ® Tk 288 x lDIJ'J Rs. 162

Required percentage = (%E%II'UUJ‘} = 21.6%.
Lot the original price be Rs. 100 per ke,
Meney required to buy 49 kg of rice = Rs. (100 = 48) = Rs. 4900,
New price = Rs. 98 per kg

qmu@arriubmgm:{‘—g'i]kg=mug.
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188, Lat original priee = Ra, x per kg, Heduoed prioe = Re. [%Wp-ar Eg.
3

10 100 10000 100
P P S
L ™ oz
1ik0
: L 2100
e 10000 — TOO0 = 106 % Ty =& x = TT TS
T4 2100
, Heduoeed = Ry — — = He. 2
i [11:-1“1:1.5;: m]l’" kg i
154, Lul:’lthnmlpnmwmhlﬂs.;ﬁm,mmnﬂw&e:Hu..[ﬁ.t-
780 _ 780 . _ B0 T80
¥ 130 ¥ 0180

100
= 104 =780 =3 = 130xr < 3Wxr= 234 = x= (16

Al
Eo, present price per dozen = Hs.[IEHiﬁﬂﬂ.E] = Rs. 9.36.

‘.lﬁ,L!I:uri:'mﬂ.lprjre:R:.:urhﬂ.Rndmdpﬂm:Hn.[%\]mtﬂ;
g e e 27000 279 ]
# |'5-ux] s % Con w
L 100

e 200 - 25110 = 6.2 = H0x
= GOy = 2T = x= b
~ Reguired differenee = 10% of Bs. 5 = Ra. (.50
186. m(A) = 34, n (B) = 42, o (A ~ B = 201
Sa, plAvuBi=alA)+aiB) —aiA A Bl =34 + 42 — 20 = BB,
Percentage failed in either or both the subjects = 56.
Henece, percentage passed = (100 = 56V% = 44%.
197. n(A) = 40, n (B} = 30, o (A m Bl = 10,
nALUB)sniA)+ n{Bl=n{A ~ B) =40 & 50 = 10 = 80
Percentage reading either or both newspapers = 8005,
Henee, pereeniage reading neither newszpaper = (100 — 8001% = 205
188, m (A} = 325, n (B} = 175, n (A w B) = 450 — 50 = 4D0.
Required number m n (A ~ Bl m 5 (A) + n(B) - piA o B) = 325 + 176 — 400 = 100,

&0 Y 268 [au Y 144 [ 18 ] 72
189, niAl= 96 |= £22 5 (B} = 96 |= 2% n{A r Bis 96 |= 1
2 Emﬂ:'L T e Tk e TRtk T 5
T
A UH e A aiD-nd n B e 2 10 200 ge
T TR e

Zo, people who hod cither or both types of lunch = T2,
Hence, people who had neither type of laneh = (96 = 721 = 24,



200,

201,

202,

Quariitative Aptituds

1
ncn--{%um]-qm n!H}-[%ﬂMﬂ}-ETﬂ, n A 1 B = 600

S afA S BlemiAl s n (B - 044 o Bl = 0460 + 270 — 6000 = 120,
Let total number be x Then,

TE 18 44 Ilz

Aafdls —z = —, Rill e — ¥ = — and a4 ~ Bi - 40,
1040 T 100 26

AlAhw Bi=niA)+ 0B - a4 o B
18z 1lx 26 dx

= Y m e — -] B ——==3 =) - 40 = L
25 o8 i N B

Lot the total number of stadents be x
Number passed in eae or both is gives by -
mA B = AlAV+niBl -mih ~ Bl = 9% of ¥ +60% of +—40% of ©

[&: Al mJ 85 17
= - e m— W e e
TiHI 100 10 1iHi 20
f 177 8
Fllltﬂ.illbul.h—l':l: E.r =%
Ax 0w 2
E-ﬂﬂ iz .tll- 3 :l-lmll

Failed in dsl subject = {--—:-rﬂ!ﬁ]| = 875

Pailed in Snd sulijeet = |%.f}ur.nn1|= 1060,

Pailed in both = [Ewﬂﬁl}n] - 375
LM

Failed in 1st subject anly = (875 - 475) = 500.
Failed in 2nd subject only = (1050 - 375) - 675,
< Passed in 2nd only + Passed in lai only = 0875 + 5000 = 1175



